H 1936 HVA/HA1A/

1

Register No.

CHATA/HBAA/
HBIA/CHBI1A/
HC1A/CHC1A/
HDI1A/CHDI1A

B.A.B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com. B.L.(Hons.)/

B.Com. LL.B. (Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, JANUARY 2021.

— e

(For the candidates admitted from 2011 to 2019)
First Year — First Semester

ENGLISH -1

Time : 21 hours Maximum ; 70 marks

1.

PART A — (2 x 10 = 20 marks)

Answer TWO of the following in about 500 words each.

(a)

(b)

(©

Deseribe briefly the characters portrayed by O'Henry in the
Hypotheses of failure.

Discuss the important points of Aringnar Anna’s maiden address in
Rajya Sabha.

Critically analyse Henry David Thoreau’s opinion on civil
disobedience.

PART B — (5 x 3 = 15 marks)

Anmnotate FIVE of the following.

(a)

(b)

(©

@

The government itself, which is only the mode which the people
have chosen to execute their will.

To pass from theological, and philosophical truth, to the truth of
civil business.

There came a scason in June when the Iegal ship of Lawyer Gooch
was nearly becalmed.

This bond doth give thee here no jot of blood;

The words expressly are ‘a pound of flesh :

[P.T.0.]



(¢) The best way to prepare for the law is to come to the study of the
law as a well read person.

() The world will little note, nor long remember what we say here, but
1t can never forget what they did here.

(g) The tyranny of the majority was at first, and is still vulgarly, held

in dread.
PART C — (20 marks)
LINGUISTICS (10 marks)
Answer TWO of the following in about 250 words each : 2 x5=10)

(a) Trace out the development of vocabulary during the modern period.
(b) Elucidate Etymology and Semantics with examples.
{¢) Discuss the Scandinavian influence on English language.

PHONETICS (10 marks)

Answer THREE of the following : (3x2=46)
(a) What are the Voiceless consonants?

by Back Vowel.

(¢) Explain Bilabial sounds with examples.

(d) Give any two examples for primary accent and secondary accent.

Transcribe the following sentences : (2 x 2= 4)
(a) Iut the books on the table.

(b} He sat under a tree.
PART D — (15 marks)
GRAMMAR

Make sentences using the pairs of words given below : (b x1=25H)
(a) Advice — Advise

(b) Official — Officious

(¢) Popular — Populace

(d) Disease — Decease

(e) Eminent ~- Imminent

2 H 1930



10.

11.

Frame sentences using the idioms given below : (bx1=5)
(a) To take one to task.

(b) To sit on the fence.

(¢) In good part.

(d) Order of the day.

(¢) Toendin smoke,

Give synonyms for the words given below : (2 x -;: =1)
(a) Propose,

(b) Awful.

(Give antonyms for the words given below : (2 x é =1)
(a) Nervous.

(b) Several.

Form words using the prefix and suffix : 2x4=1)
(&) un

(b) ful.

Rewrite the sentences : 2x1=2)

(a) John said, “I want to become a lawyexr”.
{Into indireect sentence)

(b) The teacher told the girls that if they did their best they would
surely pass.

(Into direct sentence)

3 H 1930



Register No. |

H 1931 HVB/HA1B/
CHA1B

B.A.B.L.{Hons.)/B.A.LL.B.({lons.) DEGREE (SEMESTER)
EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2019)

First Year — First Semester

HISTORY -1 (IVB)-B.A. B.1.. (Ilons.)
HISTORY (HA1B/CHA1B)-B.A LL.B. (Hons.)

Time : 21 hours Maximum ; 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1.  Explamn the administrative system of Mauryan Empire.
2.  Describe the causes responsible for the revolt of 1857.

3. Trace the growth of freedom struggle from the advent of Gandhiji up to
1947,

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4.  Discuss the causes for the downfall of Guptas.
Give an account of the contribution of Pallavas to architecture.
6. Write about the negative impact of Islam on Indian culture and society.
PART C — (56 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :
(a) Arthasastra
(b) Swami Vivekananda
(¢) Permanent Revenue Settlement
(d) Various revenues under Delhi Sultanate
(e) Five Thinais
() Difference between Svethambaras and Digambaras

() Shri Narayana Dharma Paripalana Yogam Movement

[P.T.0]



PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(c)
(d)
(e)
)
()

(hy

Arvanyakas

Fa-hien

Sapta Sindhu

Guru Nanak

Dharma Maha Matras
Peacock Throne
Champaran Satyagraha
Surat Split

H 1931



H 2010 HVC/HASE/CHASE/HBAC/

4

Register No.

HB5SE/CHB5SEMCSE/CHCSE/
HD5E/CHDSE

B.A.B.L. (Hons.YB.A.LLL.B. (Hons.)/B.Com. B.L.(Hons.)/B.Com.
Li.B.(Hons.)/B.B.A.LL.B. (Hons.)/B.C.A.LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2018)
First Year — First Semester/Third Year —Fifth Semester
LEGAL METHODS

Time : 2% hours Maximum : 70 marks

PART A - (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.
“All laws exist, for the welfare of the Human Beings”.—Discuss.
Trace the significance of the Schools of Textualism and Purposivism.

Define “Legal Research”. Explain the salience of framing TResearch
Problems’ and ‘Hypothesis’.

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

Explain the concept of ‘Reasoned Decisions’ in the light of leading case
laws. . :

Discuss the qualitics of Good Researcher in Law.

Explain the impact of ‘Multi-disciplinary Approaches’ in Legal Research.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following:
(a) Interview Method
(b) Law Library

{(¢) Constitutional Remedies

P.T.0]



8.

(d)
(e)
®
()

Skills of Interpretation
Principle of Natural Justice
Custom

Regearch Manual

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
()
(d)
(e)
®
()
(h)

Collection of Data.

Questionnaire

Legal Fiction

Plagiarism

Components of Legislative Sentence
Computer Assisted Legal Research
Common Law

Legal Reforms

H 2010



Register no.

HVD/HA1D/CHA1D/HBAD/
HB1D/CHB1D/HC1D/
CHC1D/HD1D/CHDID

B.A.B.L.(Hons.)/B.A. LL.B. (Hons.)/B.Com.B.L. {(Hons.)/B.Com. LL.B.
(Homns.)/B.B.A. LL.B. (Hous.}/ B.C.A.LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2019)
First Year — First Semester

LAW OF TORTS

Time: 2% hours Maximum: 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

. “There must be some act or omission on the part of one person which
should result in legal damage to another person” — Elucidate.

. Discuss the essentials of Negligence with the defences available to the
wrongdoer.

. Examine the general rule that an employer is not liable for the torts of his
independent contractor. Are there any exceptions to it, decide with case
laws.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

. “Actio personalis moritur cum persona” — Explain.
. “Remedies ior tort are two types — Judicial and Extra — judicial” — Discuss.
. Discuss the salient features of the Motor Vehicles Act, 1988.

PART C — (5 x 4 = 20 marks)
. Write short notes on FIVE of the following:

(a) “ubi jus ibi remedium”

(b) Vis Major

(c) Doctrine of Common Employment

(d) Assault and Battery

(e) False imprisonment

{f) Abuse of legal proceedings

{g) Statutory Authority

(P.T.0.)



PART D — (2 x 6 = 12 marks)

Answer TWQ of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

8. The conductor of an overloaded bus invited passengers to travel on the
roof of the bus. On the way, when the bus fried to overtake a cart, one of
the passengers on the roof of the bus was struck by an overhanging
branch of tree. He fell down and received multiple injuries and as a
consequence thereof he died. His mother decided to sue the transport
company. Advise, her.

9. The dogs of Ram and Sam were fighting. While Ram was trying to
separate them, he hit Sam’s eye, who was standing nearby. Decide the
liability of Ram. '

10. Some strangers blocked the waste pipes of a wash basin, which was
otherwise in the control of X’, and opened the tap. The overflowing water
damaged Y’s goods. Decide.



H 2011 HVEMAIE/CHA1E/HBAE/HB1E/

Register No.

CHBIE/HCIE/CHCI1E/HD1E/CHD1E

B.A. B.L. (Hons.)/B.A. L1.B. (Hons.)YB.Com. B.1.. (Hons.)/B.Com. L1L.B.

(Hons.)/B.B.A. LL..B. (Hons.)/B.C.A. LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2019)
First Year — First Semester

LAW OF CONTRACTS -1

Time : 21 hours Maximum : 70 marks

I

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

“A contract cannot confer any right on one who is not a party to the
contract, even though the very object of the contract may have been to
benefit him”. Discuss.

What are the rules relating to recovery of Specific Immovable Property?

Expound the remedies available against the Breach of Contract and
discuss with the relevant provisions of law and decided cases.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

“An offer must be capable of creating legal relationship between the
parties”. Elucidate.

Define ‘Mistake’. What is meant by mistake of 1dent1ty? Explain with
the help of leading cases.

“No one shall enrich himself unjustifiably at the expense of anothery”.
How far this principle is incorporated in the Indian Contract Act?

PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :
(a) Declaratory Decree.
(b) Novation.
(¢) Liquidated Damages.
(d) Carlill vs. Carbolic Smoke Ball Company.

[P.T.O.]



(e) Undue influence.
() Tender of Performance.

(g) Doctrine of Frustration.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to relevant provisions of law and

10.

decided cases. Give cogent reasons.

‘A’ agrees to pay ‘B’ a certain amount if a particular ship returns within
a year. But the ship is destroyed by Fire within the said year. Is the
contract enforceable?

‘A’ enters into a contract with ‘B’, a person of unsound mind, but during
the period of lucid interval. Is the contract valid?

At the time of partition of the family property, it was agreed that two
male members ‘A’ and ‘B’ will bear the marriage expenses of ‘C°, the
female member of the family. ‘A’ and ‘B’ fail to fulfill the promise.
Provide legal advice to ‘C'.

2 H 2011



H 2012

Register No.

HVEF/HA2A/
CHA2A

B.A.B.L. (Hons.)) B.A. LL.B. (Hons.) DEGREE (SEMESTER)

Time: 2%

EXAMINATIONS, JANUARY 2021.
(For the candidates admitted from 2011 to 2019)
First Year — Second Semester
ENGLISH-IT

hours Maximum : 70 marks

PART I — (2 x 10 = 20 marks)

1.  Answer TWO of the following:

(a)
(b)
(@

Discuss Aristotle’s deliberations on Virtues and Vices.
Explain GandhI’s reasons on the plea for the severest penalty.

Bring out the pathos of Nikolai Harlamov in “In the Court”.

PART IT — (5 x 3 = 15 marks)

2. Annotate FIVE of the following:

(a)

(b)
©
(d)
(e)

0

(g)

Another chief defect in writing of lawyers is the fact they use
circumlocution.

I do not ask for mercy. T do not plead any extenuating act.
The sitting of the Circuit Court began between nine and ten.
{ was not aware of it until the publication actually commenced.

The social sciences are now in some ways at about the point where

the natural sciences were a century or so ago.

Wisdom 1s goodness of the rational part that is applied to
productive of the things.

You were obviously intending at least to disturb the proceedings

going on in courts in this building.

[P.T.O.]



PART ITI — (2 x 5 = 10 marks)
Answer TWO of the following :
(a) Explain “understanding skills”.
(b) Analyse the impact of mother tongue in acqtﬁring a new language.
(¢) How do children acquire second language?
PART IV — (3 x 5= 15 marks)
LOGIC — (2 x 5 = 10 marks)

(a) What 1s a proposition? Explain the types of proposition with
examples.

Or

(b) Explain the nature of syllogism and its structure.

Bring out the fallacy in any ONE of the following syllogisms:
{a) All Tamilans are Indians

All Bengalis are Indians

. All Bengalis are Tamilans.

Or

(b) If there is a Cricket match, He will not go out.

He has not gone out.

.. There is a Cricket match.

LETTER WRITING. (5 marks)

Write a letter to the Commissioner about the poor street lighting of your
locality.

PART V — (10 x 1 = 10 marks)
Use TEN legal terms in sentences:
(a) Affidavit.
(b) Consent.
{(¢) Fraud.

2 H 2012



(d)
(e)
@
()
(h)
@
)
(k)
@

Ex-parte.

Void.

Capital Punishment.
Surety.

Trademark.

Remedy.

Equity.

Approver.

Homicide.

H 2012



Register No.

H 1932 HVG/HAZ2C/CHA2C/HBAL/
HB2D/CHB2IYHC2D/
CHC2D/HD2D/CHD2D

B.A.B.L.(Hons.)/B.A. LL.B. (Hons.)/B.Com. B.L. (Hons.)/
B.Com. L1I.B.(Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL..B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2019)

First Year — First Semester/ First Year — Second Semester

HISTORY II - (HVG)
LEGAL AND CONSTITUTIONAL HISTORY
(HA2C/CHA2C/HBAB/HB2D/CHB2D/HC2D/CHC2D/HD2D/CHD2D)

Time : 22 hours Maximum ; 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Trace the development of administration of justice in the Presidency
Towns of Madras and Calcutta from 1600-1726.

2. Analyse Warren Hastings Plans and explain its importance.

3.  “The Government of India Act, 1935 provides the foundation for the
Indian Constitution” — Discuss.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4. Supremé Court at Calcutta, 17'-74. -
5. Rule of Law.
6. Highlight the salient features of the Minto -- Morley Reforms.
PART C — (6 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :
(a) Settlement Act.
(b) Trial of Nanda Kumar.

[P.T.O.]



(¢) History of Law Reporting.

(d) Salient features of 1833 Act.

() The Indian Councils Act of 1892,
() Dyvarchy.

(g) The Advocates Act, 1961.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :
(a) White Town.

(b) Kannappa Adigalar.

(c) 1661 Charter.

(d) Diwani Adalat.

(e) Sir Elijah Impey.

() Nadira Begum.

(g) Pitte India Act.

(h) 1926 Bar Councils Act.

I 1932
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Register No. |

H 1933 | HVH/HA1C/CHAILC |

B.A.B.L.(Hons.)/B.A.LL.B.(Hons.) DEGREE (SEMESTER)
EXAMINATIONS, JANUARY 2021.

(For the candidates admatted from 2011 to 2019)

B.A.B.L..(Hons.) First Year — Seccond Semester (HVH)
B.A.LL.B.(Hons.) First Year — First Semester (HA1C/CHA1C)

SOCIOLOGY -1
Time: 21 hours Maximum ; 70 marks
PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.,

1.  Define sociology and enumerate its relationship with other social
sciences.

2. Describe the various agencies of social control.

3.  Define social mobility and discuss how social stratification enhances
social mobility.

PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.
4.  Write a note on secondary functions of family.
Discuss the role of culture in socialization.

6. Highlght the contemporary developments in deviance.

PART C — (b x 4 = 20 marks)

7. Write short notes on FIVE of the following :
(a) Advantages of Monogamy.
(by Views of Emile Durkheim.
(¢) dJoking Relationship.
(d) Social importance of Folkways.
(e) Caste —asa segmental division of society.
(f) Sociology as youngest of social sciences.

(g) Importance of secondary group.

[P.T.0.]



PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(c)
(d)
(e)
)
()

(hy

French Revolution.
Estate System.
Matriarchal family.
Primary Kin.
Mores.

Role and Status.
Social Psychology.

Vertical Mobility.

H 1933
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Register No. | |

H 1934 HVI/HA2B/
CHA2B/HBAT

B.A, B.L.. (Hons.) B.A. LL.B. (Hons.)/B.Com. B.L. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021,

(IFor the candidates admitted from 2011 to 2019)
First Year — Second Semester
POLITICAL SCIENCE - T (POLITICAL: THEORY)

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1.  Define Political Science and discuss its scope.
2. Examine the Social contract theory of Hobbes.
3. Analyse Aristotle’s classification of Governments.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4.  Discuss the role of Political Parties in Democratic Countries.

5. Examine the rights and duties of citizens.

6.  Analyse the Liberal pragmatist Political theory.

PART C — (6'x 4 = 20 marks)
7. Write short notes on FIVE of the following :
(a) Relation between Political Science and Economics.
(b) Structural and Functional Analysis.
(¢) State and Nation.
(d) Global citizenship.
(e) Fascism.
() Feminism.

(g) Plural execﬁtive.

[P.T.0.]



PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(©)
(d)
(e)
®
(8)
(h)

Population

Internal Sovereignty

Contemporary Islamic Political thought
Oligarchy

Imperialism

John Austin

Political Science and Jurisprudence

Post-Behaviouralism

H 1934



H 2013 HB2F/CHB2E/HCSE/CHC2E/

1

Register No.

HVJ/HAZE/CHAZ2E/HBAJ/

HDZE/CHD2E

B.A. B.L. (Hons.) B.A. LL.B. (IIons.)/ B.Com. B.L. (Hons.)/
B.Com. LL.B. (Hons.)/ B.B.A. LLL.B. (Hons.)Y B.C.A. LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(For the candidates admitted from 2011 to 2019)
First Year — Second Semester

LAW OF CONTRACTS - 11

Time : 24 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

“Varitance in surety confract without his consent will discharge him but
beneficial variance will not”-Expound.

Examine the rights, duties and responsibilities of a partner, according to
the legislative and judicial perspectives.

Discuss the concept of condition and waranty and its relevance to Sale of
Goods contract.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Explain the various issues related to delegation of an agency by an
agent, without the consent of principal.

Discuss the concept of subrogation and contribution in a guarantee
contract.

State the difference between general lien and particular lien.

[P.T.0]



PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :
(a) Pledge by Mercantile agent

(b) Rights of an Unpaid Seller.

(¢) Gratuitous Bailment

(d) Meaning of Goods

(e) Foreign Agent

() Concept of Agency in partnership firm.

(g) Unpaid vendor.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

‘A’, has bought machinery from ‘B’, which was actually acquired by “B”
through fraudulent means from “C”. Now “C” demands “A” to return the
machinery. Decide.

“X” lost his car and subsequently got indemnified claim from an
insurance company. ‘X" recovered hig car later on, but Insurance
Company required “X” to return the car. Decide.

“A” takes a debt from “B” for which “C” stands as surety. “B” recovers
the debt amount from “C” (Surety) after “A” defaults debt payment. Now
“C” wants “A” to indemnify “C”. Decide.

2 H 2013



Register No.

H 1985 HWA/MA3SB/
CHA3B

B.A. B.L. (tHIons.)/B.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2019)
Second Year — Third Semester
POLITICAL SCIENCE II - STATE AND POLITICAL OBLIGATIONS

Time : 21 hours Maximum : 70 marks
2

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. Cnitically analyse Plato’s Crito.
2. Write an essay about Rousseau’s Social contract theory.
3.  Examine the Anarchist theory of Politicél obligation.

PART B — (2 x 7= 14 marks)

Angwer TWO of the following in about 300 words each.
4. Examine Raphael’s ideas on Political obligation.
5.  Evaluate the idea of Right to disobey the law.

6. Examine the role of international society in political obligation of a
State.

PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :
(a) Utilitarian theory.
(b) Dimensions of Political obligation.
(&) Political obligation in Ancient India.
(d) Plato’s theory of justice.
(e) dJoseph Raz’s theory of authority.
() Article 51 A of the Indian Constitution.
(g) Right to Dissent.

[P.T.0.]



PART D — (6 x 2 = 12 marks)

8. Answer SIX of the following very briefly :
(a) Locke's theory of Law of Nature.
(b) The role of family in political obligation.
{¢) Gratitude theory.
(d) Moral foundations of political obligation.
(¢) Upendra Bax.
(f) Role of State in balancing Political Obligation.
(g) Nature of political obligation.
(h) Legal obligation.

2 H 1935
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Register No.

H 1936 HWDB/HA3A/
CHAS3A

B.A. B.L. (Hons.)/ B.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, JANUARY 2021.

(IFor the candidates admitted from 2011 to 2019)
Second Year — Third Semester

SOCIOLOGY -11
Time : 21 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1.  Critically analyse the problems faced by Indian women.
2. Explain the role of judiciary and legal profession in Indian society.
3.  Examine the various theories of caste.
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4.  Explain the nature of diversities in India.
5.  Discuss the merits and demerits of joint family system.
6.  Analyse the prevalence of honour killing in Indian society.
PART C — (6 x 4 = 20 marks)
7. Write short notes on FIVE <;f the following :
(a) Factors promoting caste system.
(b) Society in contemporary India.
{(¢) “Dowry” as a social evil.

(d) Women in medieval India,

[P.T.0]



(e)
(0
()

Prevalence of Bonded Labour.
Domestic violence.
Juvenile delinquency.

PART D — (6 x 2 = 12 marks)

Angwer SIX of the following very briefly :

(a)
(b)
(©
(d)
(e)
®
(8
(h)

Social change.
Corruption.

Social unrest.
National integration.
Jajmani system,
Technological change.
Backward Classes.

Plural society.

H 1936
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Register No.

H 1937 HWC/HASC/CHA3SC/HBBC

B.A.B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com. B.L. (Llons.) DEGREE (SEMESTER)
EXAMINATIONS, JANUARY 2021.
(For the candidates admitted from 2011 to 2019)
Second Year — Third Semester
ECONOMICS -1
(General Principles of Economics)

Time : 2% hours Maximum : 70 marks

PART A — (2 x12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Analyse cardinal utility theory and its applications.

2.  Define market. How price and output are determined under monopoly market? And
discuss the causes of emerging monopoly.

3.  Evaluate the objectives and functions of Reserve Bank of India.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4.  Illustrate Law of Returns to Scale.
5.  Explain the ].M. Keynesian theory of Consamption function.

6. Discuss about the various branches of Public finance and list out the causes for
increasing Public Expenditure in India.

PART C — (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following :
(@) Adam Smith’s definition of Economics and its criticisms.
(b) Elasticity of demand.
(c) Properties of Indifference Curve.
(d) Different market structure.
(e) Marginal Productivity theory of distribution.
(f) Circular flow of Income.

(2) Monetary and Fiscal Policies.

[P.T.0]



PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly :

(a)
(b)
©
(d)
(e)
)
(8)
(h)

Scarcity definition of Economics.
Law of Demand.

Consumer Surplus.

Rent,

C=f(Y) - Expand.

Liquidity Trap.

VAT.

IMF.

H 1937



|

Register No.

H 1938 HWD/HA3D/CHA3D/ HBBD/
HB3D/CHB3D/HC3AD/CHC3D/HD3D/
CHD3D

B.A.B.L. (Hons.)/B.A. L.1..B. (Hons.)/B.Com. B.L. (Hons.)/B.Com. LL.B.
(Hons.)/B.B.A. LI.B. (Hons.)/B.C.A. LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admatted from 2011 to 2019)
Second Year — Third Semester
FAMILY AW -1
Time : 21 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1.  Examine the legal consequences of void and voidable marriages
according to the Hindu Marriage Act, 1955.

2. Describe the legal incidents of a valid Mushm marriage and point out
the circumstances in which a marriage is considered irregular.

3. State the grounds of divorce provided to the husband and wife under the
Indian Divorce Act, 1869 with 1ts recent amendment.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4.  Explain the changes made in the law of guardianship by the Hindu
Minority and Guardianship Act, 1956.

5. What 1s the importance of Dower? Explain the various kinds of dower.

6. State the conditions relating to registration of marriage under the

Special Marriage Act, 1954.

[PT.0.]



10.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a)
(b)
()
(d)
(e)
9]
()

Schools of Muslim Law.

Seerthiruththa and Suyamariyathai Marriages.

Cruelty.

Talag.

Zihar.

Acknowledgement of Paternity.

Indian Divorce (Amendment) Act, 2001.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to relevant provisions of law

and decided cases. Give cogent reasons.

‘A’, a Hindu male, is married to ‘B’ 1s 1962. In 1963, ‘A’ becomes a

convert to Christianity. In 1964, ‘B’ sues ‘A’ for Divorce. Decide.

A Muslim wife claims dower from her husband when the divorce takes
effect. He objects to the payment of full dower on the ground that the
marriage was not consummated. Decide.

‘A’, a Muslim male, and ‘B’ a Hindu female, both citizens of India, are
married in London under the British Marrage Act. They come back to
India and ‘A’ dissolves the marriage by pronouncing Talaq. Is the
divorce valid?

H 1938



Register No. i

H 1939 OWE/HASE/CHASE/HBBE/HBIE
CHBSE/HCSE/CHCSE/HDSE/CHDSE

B.A. B.L.. (Hons.)/B.A. LL.B.(Hons.)/B.Com. B.L.{(Hons.)/ B.Com. LL.B.
(Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LLL..B, (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2019)
Second Year — Third Semester

CONSTITUTIONAL LAW-1

Time : 21 hours Maximum ; 70 marks
2

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Can Preambie be amended under Article 3687 Answer with the aid of
decided cases?

2. Whether Parliament can make law of reservation in employment in
private sector? Discuss the impact of privatization on affirmative action
by State.

3.  “Right to administer educational institution does not mean the right to
maladminister” — Comment.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4.  “Non-justiciability of Directive principles of State policy does not mean
judicial non-cognizability”, — Discuss.

5. Bnefly explain the nature and scope of the freedom of the press in the
light of judicial decisions.

6. Write a note on constitutionality of amendments to the Indian
Constitution.

[P.T.0)]



PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

()
(b}
(©
(d)
{e)
®
(8

Fundamental Duties.
Constitutional Convention.
Doctrine of Severability.

K.A. Abbas v. Union of India.
Life and Personal liberty.
Socialism and Secularism.

Latimer House Principle.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

A boy of 15 years old was taken away by the police people who beat him
severely. He succumbed to the injuries. His father filed a petition before

the court. Examine the remedies available to him.

The Government ordered for tapping of nearly 300 telephones belonging
to various political leaders ostensibly acting under the Indian Telegraph
Act, 1885, A civil liberties organization prefer to file Public Interest
Litigation. Advise.

‘F’ and ‘Q students in a Public School were removed from rolls as they
refused to sing the National Anthem, as it is against their religious
belief. Removal order issued by the School was challenged. Decide.

H 1939
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Register No, |

H 1940 HWE/HA4A/
CILA4A/HBBF

B.A.B.I.. (Hons.)/B.A. LL.B. (Hons.)/B.Com. B.L.(Hons.) DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2018)
Second Year — Fourth Semester
POLITICAL SCIENCE - III (International Relations) - HWF/HA4A/CHA4A

POLITICAL SCIENCE - II (International Relations) — HBBF

Time : 21 hours Maximum ; 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Discuss the development of international relations in ancient and
medieval periods.

2. Examine Realist theory and its merits and demerits.

3.  Explain the UN.O’s role in maintaining international peace and
security.

PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words cach.
4.  Describe various environmental issues of International Relations.
5. Examine various generations of Human Rights.

6. Examine the imperialism in International Relations and particularly
between two World Wars.

PART C— (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following :
(&) Divide and Rule.
(b) International Politics as a struggle for power.
(¢) Treaties.

[P.T.0]



(d) Terrorism.

(e) Global Trade and Finance.

() Constructivist in International Relations.
(g) Unipolar World.

PART D — (6 x 2 = 12 marks)
Answer SIX of the following very briefly :

(a) Idealism.

(b) C.H. Carr.

(¢) Universal Declaration of Human Rights.
(d) Theories of International Law.

(e) Post-Colomal Period.

(0 Alliances and Counter Alliances.

() Human Security.

(h) International Humanitarian Law.

1 1940
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Register No.

H 1941 |HWGIHA4BICHA4B

B.A. B.L.. (Hons.)/B.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, JANUARY 2021.

(Ifor the candidates admitted from 2011 to 2018)
Second Year — Fourth Semester
ECONOMICS —II

Time : 21 hours Maximum : 70 marks
2

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. Explain the economic and non-economic factors affecting the economic
growth with special reference to Indian Economy.

2. Discuss the unique charaeteristics of Indian Agricultural Labour. Trace
the various problems faced by them and suggest measures to resolve
them.

3. Describe the role of Industries in economic development.
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4.  Discuss the role of Pubhe Sector in Indian Economic development.

5. Define National Income. Estimate the recent trends in National income
in India.

6.  Critically evaluate economic reforms since 1891 in India.

PART C — (b x 4 = 20 marks)
7. Write short notes on FIVE of the following :

(a) Poverty and its causes in India.
(b) Unemployment and its kinds.

(¢) Agricultural credits and their agencies.

[P.T.0.]



(d)
(e)
®
()

Importance and challenges of rural development.

Problems of small scale and cottage industries.
Objectives and strategies of Five Year Plans.
Impact of FDI,

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(@
(d)
(e)
6
(®
(h)

Mixed Economic System.

Distinguish between growth and development.
Disguised unemployment.

Green Revolution.

Labour Relations.

Trade Union.

NABARD.

BRICS.

"H 1941
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Register No.

NVH/HA4C/CHA4C/HBBG/
HB4C/CHB4C/HCACY
H 2014 CHC4C/HD4C/CHDAC

B.A. B.L.. (Hons.)/ B.A. LL.B. (Hons.)/ B.Com. B.L. (Hons.)/
B.Com. LL.B. (Hons.)/B.B.A. LL.B. (HHons.)/ B.C.A. LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2018)
Second Year — Fourth Semester
JURISPRUDENCE
Time : 21 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Explain the Historical school and Analytical school of thought and write
about the difference in their approaches.

2. “PIL 1s not the pill to cure all the ills of the society” — Comment.
3. Define ‘Precedent’. Examine the value of the doctrine of precedents.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4.  Critically analyse Hohfeldian theory of Rights and Duties.

5. Discuss the theories of corporate personality by explaining ‘One Man
Company’.

6. Define ‘law’ in terms of judicial process.
PART C — (b x 4 = 20 marks)
7.  Write short notes on FIVE of the following :
(a) Rule of Recognition
(b) De jure Possession
(c) Law as Social Engineering

[P.T.0.]



(d) Status to Contract
(e) 'Theory of Penal Liability
(fy Rights in Personam

(g) Logical Interpretation.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to relevant provisions of law and

10.

decided cases. Give cogent reasons.

A person was prosecuted for printing and selling a classified list of
prostitutes with their addresses and phone numbers. Decide whether 1t
is contrary to law.

A legatee under a Will murdered his testator. Decide whether the
legatee is permitted to take the property bequeathed to him.

A chimney boy found a jewel and took it to the shop of the defendant to
know its value. The defendant refused to return it to the boy on the
ground that the boy was not the owner. Decide.

2 H 2014



9

Register No.

H 1942 HWI/HA4D/CHA4D/HBBI/
HB4D/CHB4D/AIC4D/
CHC4D/HD4D/CHD4D

B.A. B.L. (Hons.)/B.A. LL.B. (Hons.), B.Com. B.L.. (Hons.)/B.Com. L.L.B.
(Hons.)/B.B.A. LL1..B. (Hons.)/B.C.A.LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021.

(IFor the candidates admitted during 2011 to 2018)
Second Year — Fourth Semester
FAMILY LAW .11

Time : 21 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. State the rules of succession now applicable to the property of a female

Hindu dying intestate under the Hindu Sueccession Act, 1956.

2. Define Wakf and point out the essential requirements and the kinds of
Wakf.

3. Distinguish ‘privileged will’ from ‘unprivileged will’ under the Indian

Succession Act, 1925? Explain the mode of their execution.
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4.  “Partition 1s generally brought about by the consensus of the members

of the coparcenary but not always” — Elucidate.

5. State the rules of inheritance for distribution of estate among sharers

and residuaries under Shia Law.

[P.T.0)]



Define an executor and an administrator. State the circumstances when
they could be appointed? Explain their powers and duties under the
Indian Succession Act, 1925.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :
(a) Gains of Learning.

(b) Antecedent debt.

(¢) Notional Partition.

(d) Hiba-bil-iwaz.

(e} Shuffa.

(f) Golden rules of construction.

(g) Probate.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

A Sunni Muslim male dies leaving mother, daughter and son’s daughter.
Divide the estate among them.

A Hindu dies leaving behind his mother, father, brother, two sons, the
widow and daughter of a predeceased son. Distribute the estate.

A Christian dies leaving his father, mother, wife, a son and two
daughters. Distribute the property of the deceased.

2 H 1942
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Register No.

H1943 HWJ/HA4E/CHA4E/HBB.J/
HB4E/CHB4E/HC4E/
CHC4E/HD4E/CHD4E

B.A.B.L. (Hons.)/B.A.LLL.B. (Hons.) /B.Com. B.L.. (Hons.}/B.Com. LL.B.
(Hons.).B.B.A. LL.B (Hons.)/B.C.A. LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2018)

Second Year — Fourth Semester

CONSTITUTIONAL LAW-IT

Time : 24 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1.  “The Constitution provides that the Council of Ministers both in the
Centre and in States shall be collectively responsible to the respective
lower houses”. — Discuss.

2. Discuss the constitutional provisions related to the exercise of Appellate
Jurisdiction of the Supreme Court of India.

3.  Critically examine the judicial review of the power of the President of
India to impose emergency in states.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4,  Explain the administrative relations between the Union and the States.

5. “Trade, Commerce and intercourse throughout the territory of India
shall be free” — Comment.

6. What are the constitutional safeguards available to a Civil Servant?

[P.T.0.]



PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a) Speaker of Legislative Assembly.

(b) Attorney—General of India.

(¢) Pardoning Power of the President.

(d) Money Bill.

(e) Election Commission.

()  Doctrine of Immunity and Instrumentalities.
(g) Tenth Schedule of the Constitution.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

The Dean of Government Medical College taking serious view of the bad
behaviour of a final year medical student, dismissed him after following
the principles of natural justice. The dismissed student rushes straight
to the Supreme Court for relief. Decide the admissibility of the petition.

The Speaker of a legislative assembly was openly threatening a sitting
judge of the High Court in a public meeting. The High Court called upon
the speaker to appear before the High Court to answer a charge of
contempt of court. When he failed to appear before the court, the court
directed the Government to produce him before the court. The speaker
claimed immunity from liability for contempt of court. Can his claim be
sustained in law?

10. An amendment to the Constitution was made by the parliament to
validate the election of the Prime Minister with retrospective effect,
which was set aside by the High Court. Discuss the validity of the

Amendment.

2 H1943
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Register No.

H 2015 HXA/HAGB/
CHAGC

B.A. B.L. (Hons.)/B.A. LL..B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, JANUARY 2021.

(I'or the candidates admitted from 2011 to 2017)
Third Year — Fifth Semester / Sixth Semester
POLITICAL SCIENCE IV (Public Policy and Public Administration)
Time : 2% hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Differentiate between Public administration and Private
administration.

2.  Examine Henry Fayol's Fourteen principles of administration.
3. Iixplain the nature, scope and extent of Ministerial control.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4.  Explain the role of Women’s Commission in India.
Examine the provisions of the Disaster Management Act in India.
6. Trace the development of Public Administration.
PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :
(a) Public Enterprises.
(b) POSDCORB.
(¢) Parliamentary control.
(d) Three-tier Panchayat systein.
(e) Elton Mayo’s theory of Administration.
() 739 Amendment.
(g) SEBL

[P.T.0]



PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly.

(@)
(b)
(©)
(d)
(e)
()
(2)
(b

Corruption.

UpPsC.

Regulatory Commissions.

Human Rights Act.

Challenges of Public Administration.

First Administrative Reforms Commission.
Comptroller and Auditor General.

Organisation.

H 2015
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Register No.

H 1944 HXB/HA2D/CHA2D/
HBCC/HB3C/CHB3C/HC3C/
CHC3C/HD3C/CHD3C

B.A. /B.L.(Hons.)/B.A.LL.B.(Hons.)/B.Com. B.L. (Hons.)
B.Com. LL.B. (Hons.) /B.B.A.LLLL..B. (Hons.)/B.C.A.LL.B.(Hons.)
DEGREE (SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2019)
Third Year — Fifth Semester (HXB/HBCC)
First Year — Second Semester (HA2D/CHAZ2D)
Second Year — Third Semester (HB3C/CHB3C/HC3C/CHC3C/HD3C/CHD3C)
LAW OF CRIMES - I (Indian Penal Code)

Time : 21 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. Explain the nature and extent of unsoundness of mind required to
exempt a person from criminal hability.

2. What 1s kadnapping from lawful guardianship? How does it differ from
abduction?

3.  ‘Culpable homicide is the genus while murder is its species”. — Justify
the statement.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4.  What is force? When does it become eriminal force?

5. What 1s giving false ewvidence? Distinguish it from fabricating false
evidence.

6. Discuss criminal trespass. How does it differ from house breaking?

[P.T.0]



PART C— (5 x 4 = 20 marks)

Write short notes on FIVE of the following:

(a)
(b)
(c)
(d)
(e)
)
(2

Election offence

Affray

Assault

Public servant

Solitary confinement

Mens rea

Extra territorial jurisdiction,

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

A, builds a wall across a path along which B has a right to pass, B is
thereby prevented from passing. What is the offence committed by A?

‘A’, climbs a roof with the help of the ladder and ‘B’ quietly removes the
ladder. Discuss the liability, of ‘B’

A Transport company is entrusted by ‘A’ with property to be carried by
land. The carrier company dishonestly misused the property. What is
the offence that carrier company committed?

H 1944
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Register no.

HXC/HASC/CHASC/HBCD/HBSC/
CHB5C/HC5C/CHC5C/HD5C/CHD5C

B.A.B.L. (Hons.}/B.A. LL.B. {Hons.)/B.Com.B.L. (Hons.}/B.Com. LL.B.
(Hons.}/B.B.A. LL.B. {Hons.}/ B.C.A.LL.B. {(Hons.) DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2018)
Third Year - Fifth Semester
PUBLIC INTERNATIONAL LAW
Time: 2% hours Maximum: 70 marks
PART A — (2 % 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. Is International Law a true law? Discuss.

2. Explain the legal effects of recognition of a new State.

3. What is meant by extradition? State the Principle of Double Criminality in
extradition.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Write a note on Statelessness.

5. Explain the powers and functions of Security Council of the United
Nations.

6. Discuss the jurisdiction of Maritime State over Coastal Waters.

PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following:

(a} State succession.

(b) Veto power

(c) Nationality and its importance.

(d) Interpretation of Treaties

(e) Asylum

() International Court of Justice.

(g) Trial Smelter Arbitration Case.

(P.T.0.)



PART D — (2 x 6 = 12 marks}
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

8. The states A and B entered into a bilateral agreement with an idea to use
of sea passage for commercial purpose only with conditional precedent.
Due to Political rivalry, B state violated the condition. Decide.

9. The king of state “A” during his stay in State “B” promised to marry Miss
Bobby. Subsequently, king refused to marry her. Miss Bobby wants to
file a suit against the king in state “B”. Can she do so?

10. Two experts were appointed by the UN to oversee a trace agreement
between the government forces and rebels. The trace agreement was
breached and both the experts were killed in the territory controlled by
the government forces. The UN brought a claim against the government.
Will it succeed? Decide.



Register No.

H 1946 HXD/HAGSB/
CHA5B

B.A. B.L.(Hons.)/B.A.LL.B.(Hons.) DBEGREE (SEMESTER)
EXAMINATIONS, JANUARY 2021.

(Ifor the candidates admitted from 2011 to 2018)
Third Year — Fifth Scmester
HUMAN RIGHTS LAW
Time : 21 hours Maximwm : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words cach.

1. Trace the history of human rights. Evaluate the role of UN in
developing human rights.

2. Critically examine the International Bill of Rights towards
universalizing human rights.

3. Dascuss the International and National laws protective of children.

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

4. Write a note on ‘NGOs and Human Rights’.

5. Discuss the efforts the Indian judiciary initiated towards protecting the
human rights of women.

6. Examine the legal validity of recommendations provided by human
rights commissions.

PART C — (6 x 4 = 20 marks)
7. Write short notes on FIVE of the following :
(a) Magna Carta.

(b) Second generation rights.

(¢) National Commission for Minorities.

[P.T.O]



(d) TU.N. Charter.
(e) Vulnerable groups.
() Right of self determination.

(g) European Convention on Human Rights.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

Ms. Gesica married one X against the wishes of her family and caste
members. The couple were threatened by her family members. She
approaches a judicial forum — Decide.

‘Tane’ ig a town in India. The local administration supplies polluted
water for drinking purposes. One Mr.’X’, approaches Supreme Court
alleging failure to provide safe water by the Local administration. —
Decide.

One X' was killed in judicial custody. The prison authorities were
prosecuted and adjudged guilty. The wife of X' makes a claim for
compensation, — Decide.

2 H 1946



Register No.

H 2016 HXE/HAGE/CHASB/
HIBDC/HB6E/CIIBSB/
HC6E/CHCSB/
HD6E/CHDSB

B.A., B.L.. (Hons.)/B.A.LLL.B. (Hons.)/B.Com. B.L.(Hons.)/B.Com.LL.B.
(Hons)/B.B.A. LI.B. (Hons.)/B.C.A. LL.B (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021,

(For the candidates admitted from 2011 to 2016)

Third Year — Fifth Semester/Sixth Semester/Fourth Year-Seventh
Semester/Eighth Semester

INTERPRETATION OF STATUTES

Time : 21 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. “The Schools of Textualism and Purposivism, constitute the essence of

the tools of statutory interpretation” — Discuss.

2.  “The Principle of Harmonious Construction serves as a safeguard
mechanism in the convergence of fundamental rights and Directive

Principles of State Policy” — Elaborate.

3. Distinguish between intent and motive. Explain the notion of strict

interpretation of Penal Statutes in the light of decided case laws.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4.  “SBocial Security legislations, as a matter of principle, ought to be

constructed in a beneficial manner:” — Explain with leading cases.

[P.T.O.]



Explain in detail the role of the General Clauses Act, in understanding

the life, commencement, application and expiry of Statutes.

Discuss the various rules related to the interpretation of Taxing

Statutes. Illustrate with decided cases.
PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a) Illustration and Saving Clauses as Intrinsic Aid.
() Rule of Ejusdem generis

() Skills of Interpretation.

(d) Qualities of Legislative Drafter.

(e) Doctrine of Pith and Substance.

(f) Dictionaries and Text boéks as Extrinsic Aid.

(g) Definition of Statute Law.
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to relevant provisions of law and

decided cases. Give cogent reasons.

In a criminal Proceeding involving ‘offences against Religion’, an issue
arises as to the definition of the term Religion’ vis-a-vis acts offending
religious sentiments. It is also argued that the ‘Conscience Clause’
under the right to freedom of Religion as enshrined in the Constitution

has to be relied by the court. Examine.

2 H 2016
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A3

‘M and ‘N’ are workers employed in X’s factory. During the working
hours, ‘M’ and ‘N’ get involved in a scuffle, in consequence, ‘M’ takes a
rod and hits ‘N. Resultantly, ‘N’ sustains injuries. ‘N’ seeks
compensation against the employer X'. X’ denies it on the ground that
infentional injuries cannot be equated with accident. Whether ‘N’ will

succeed — Decide.

The term ‘Human rights’ is defined under Sce. 2(1){(d) of the Protection
of Human Rights Act. The definitional elements incorporate both
constitutional and international legal approaches. A question of
interpretation arises as to the nature and effect of ‘Bijural Legislation’

in the context of Protection of Human Rights. — Clarify.

3 H 2016
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29

P

Register No.

HBCH/HB6C/CHB6D/
HC6C/CHC6D/
HD6C/CHD6D

B.A. B.L.. (Hons.)/B.A. L1..B. (Hons.)/B.Com. B.L. (Hons.)/B.Com. LL.B.

(Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Illons) DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admaitted from 2011 to 2017)
Third Year — Sixth Semester

ADMINISTRATIVE LAW

Time : 2% hours Maximum ; 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Discuss the nature and scope of Administrative Law and state the
relation between Administrative Law and Constitutional Law,

"Parliamentary control over delegated legislation should be a lLiving
continuity as a constitutional necessity” — In the light of the above
statement analyse the strategies of parliamentary control over
delegated legislation.

Examine the scope and operation of promissory estoppel in
Administrative Law as a control mechanism on the undue exercise of its
powers by the administration.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

Discuss the role of writ of certiorari in the judicial control of
administrative action.

Examine the privilege of the Government to withhold production of
documents before courts.

Explain the extent of governmental control over Public Corporations.

[P.T.O]



PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :
(a) Droit Administratif.
(b) Publication of delegated legislation.
(¢) Speaking order.
(d) Contractual liability of the State.
(e) Discretionary power.
(f) Doctrine of proportionality.
(g Ombudsman.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

The parent Act empowered the Government to prohibit all persons
regiding in certain area, from engaging themselves in the manufacture
of bidis, during agricultural seasons. In the exercise of the power the
Government framed rules empowering the Deputy Commuissioner to fix
the agricultural season and prohibit the manufacture of bidis in the
notified areas in that season. The Deputy Commissioner imposed a total
ban on the manufacture of bidis. Decide.

The Government constituted an assessment committee 1n order to
recommend and select books of various authors and publishers on
various school subjects. Some of the persons whose books were in the
selection list were members of the assessment committee. In this
meeting when the books were being assessed, an individual member
would withdraw when his book was taken up for consideration.
However, that member participated in deliberations when books of other
members were considered. The result was that the books of members of
the assessment committee were accorded approval. The action of the
Government was challenged. Decide.

A Government employee while travelling in a Government vehicle used
for famine relief work lost his life due to negligence of the driver of the
vehicle. His widow claims damages. But the Government refused on the
ground that the vehicle was engaged in performing Sovereign function
and hence it is not liable. Decide.

2 H 1947



H 1948 HXG/HASA/CHAGA/

o»

Register No.

HBDG/HB8A/CHB6A/
HC8A/CHC6A/
HDSA/CHD6A

B.A.B.L.(Hons.)/B.A.LLL.B.(Hons.)/B.Com.B.L. (Hons.)/
B.Com.LIL.B. (Hons.)/B.B.A.LL.B. (Hons.)/B.C.A.LLL.B (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, JANUARY 2021,

(For the candidates admitted from 2011 to 2017)
Third Year — Sixth Semester / Fourth Year — Eighth Semester

LAW OF EVIDENCE

Time : 21 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

What is dying declaration? When it is admitted as relevant fact? Can a
conviction be based solely on the basis of dying declaration?

What do you understand by burden of proof? Discuss the general rules
as to burden of proof.

Define confession. Examine its evidentiary value.

PART B — (2 x T= 14 marks)
Answer TWO of the following in about 300 words cach.

Distinguish between relevancy and admissibility.
Examine the circumstances when the doctrine of Estoppel will apply.

What are Secondary Evidences? State the circumstances when they are
admissible.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :
() Shall presume

(b) Examination —in — chief

[P.T.O.]



(¢) Factinissue
(d) Dumb witness
(¢) Hearsay Rule
() Expert witness

() Refreshing memory

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

‘A, a young girl, receives obscene calls on the telephone. She records the
phone call on a tape — recorder in which the caller identifies himself to
be X’. X’ 1s being tried for making obscene calls to ‘A’. In the trial the
prosecution wants to bring on record the recorded evidence. Decide as to
its admissibility.

‘A’, Hindu woman, was married to °5’ in October 1986. ‘S’ died in June
1990. She then married another man ‘K’ in July 1990 and gave birth to a
son 1n September 1990. Decide the legitimate status of the son.

A, a client, says to B, an attorney — “I wish to obtain possession of
property by use of forged deed on which I request vou to sue”. Is the
communication made by A barred by law or expressly prohibited by law
from disclosure? Decide.

2 H 1948
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Register No. !

H 2017 HXH/HA6D/CHATA/HBCI/HB6D/CHB7A/
HC6D/CHC7A/HDGD/CHD7A

B.A. B.L.. (Hons. )/B.A. LL.B. (Hons.)/B.Com, B.L. (Hons.)/B.Com. LI.B.
(Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. L1.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021,

(For the candidates admitted from 2011 to 2017)

Third Year — Sixth Semester/Fourth Year — Seventh Semester

PROPERTY LAW

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 maxks)
Answer TWO of the following in about 500 words each.

1. Explain the evolution of the Rule against Perpetuity. Distinguish
between the English Law and Indian Rule against perpetuity with

decided case laws.

2. Discuss the rights and liabilities of Vendor and Vendee with relevant

case laws.

3. Explain the Doctrine of Lis pendens. Refer to case laws.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. “Qui Prior est tempore portior est jure” — discuss the maxim with the

help of general principles.
5.  Define and distinguish Lease and Licence.

6. State the essential features of Mortgage by Conditional sale and

differentiate it from a Sale with condition for reconveyance.

[P.T.O.]



PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a)
(b)
(©
(d)
(e)
(0
(2)

Direction for accumulation
Doctrine of Cy pres
Fraudulent transfer
Death bed gift

Title paramount

Quasi — Easement

Charge
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

Ramu transferred his entire property to Raju with the condition, not to

raise any superstructure for more than two floors. Raju transferred the

property to Sunil. Discuss the binding effect of the condition.

Kamal borrowed Rs.b lakhs from Karthik by Mortgaging his property

Blackacre with the condition that he will redeem the property on expiry

of five years, failing which Blackacre shall be retained as security for

another five years. Discuss the validity of the condition.

‘A’ grants ‘B’, a right to fish in the river which runs through his land.

The river changed its course and runs through the land of ‘C’. Does the

-easementary right continue?

H 2017



Register no.

HXI/HA7A/CHATB/HBEH/
HB7A/CHB7B/HC7A/
CHC7B/HD7A/CHD7B

B.A.B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com. B.L. (Hons.)/B.Com. LL.B.
(Hons.)/B.B.A. LL.B. {Hons.}/ B.C.A.LL.B. (Hons.) DEGREE
{(SEMESTER} EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2017)

Third Year — Sixth Semester/Fourth Year — Seventh Semester/
Fifth Year — Tenth Semester

INTELLECTUAL PROPERTY LAW
Time: 2% hours Maximum: 70 marks
PART A — (2 x 12 = 24 marks}
Answer TWO of the following in about 500 words each.
. Explain the various conditions that are to be necessarily satisfied for an
Invention to become patentable.

. Discuss in detail about the essential requirement for registration of
Industrial Designs under the Design Act 2000.

. Discuss the works in which Copyright subsist under the Copyright Act
1957.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

. What do you understand by DUSN test done in protection of plant
varieties?

. Discuss the subject matfer and the scope of Semiconductor Integrated
Circuits Layout Design Act 2000.

. What inventions are considered not patentable as per sec. 3 and 4 of the
Indian Patent Act?

PART C - (5 x 4 = 20 marks}
. Write short notes on FIVE of the following:
(a) Most Favoured Nation Treatment.
(b) John Locke — Labour theory on Property.
(c) Doctrine of Exhaustion.
(d) Vendibility Test in Bio-tech Patents.
{e) Define Geographical Indication.
() Grounds for compulsory licensing under the Patent Act.

{g) Discuss the Author’s special right under the Copyright Act 1957.
(P.-T.0.)



PART D - (2 x 6 = 12 marks)
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

8. Nirma Dental Care Products Ltd. introduced a multi — utility designed
tooth brush consisting of a distinctive aesthetic shaped handle and head
with a flexible portion between the head and the handle. Nirma Dental
Care Products Ltd. applied for the registration of the design with the
authorities. This was challenged by Bharat Lever Ltd., a competitor, on
the grounds that, it is a pure and simple functional feature without
Novelty, decide.

9. “TRIAN” is a famous Iron and Steel company situated in India. As a part
of expansion of the industry, they started their new venture on the
eastern coast of Orissa. It was vehemently opposed by environmental
activists as it was a threat to the habitat of Olive Ridleys. “VIGGREEN”,
an NGO, designed a game in order to create awareness amongst people
on environmental protection and used the logo of Trian, to indicate the
wrongdoers. Trian objected to it and filed a suit for infringement of
Trademark. Decide.

10. Ms. Barkara Das, a renowned Photo Journalist, was working for “CBTV”
as a Reporter. She was deputed to Afghanistan to report on the aftermath
of Taliban era. She presented live programs and wrote many articles in
their print version “CB HERALD”. After the successful mission she was
back to work. Later she prepared a documentary in a CD format
captioning “Rise and Fall of Taliban” and released it on her own. CBTV
sues her for the alleged utilization of information during her stay at
Afghanistan. But she contends that it was her own work and enjoys every
right to exploit it for commercial gain. Decide.
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Register No.

H 1950 HXJ/HASD/CHA9A/
HBCJ/HBSD/CHBIAHCED/
CHC9A/HDSID/CHDYA

B.A.B.L. (Hons.)/B.A. LL.B. (Hons.)/ B.Com. B.L. (Hons.)/ B.Com. LL.B.
(Homns.)/ B.B.A. LL.B. (Hons.)/ B.C.A. LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2016)
Third Year — Sixth Semester/ Fourth Year- Eighth Semester/Ninth Semester
LAW OF INSURANCE

Time : 21 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1.  Explain the concept of Insurable Interest basing on the definitions given
by Lawrence .J. in Lucena vs. Crawford.

2.  Elaborate the characteristics of Fire Insurance contract.

3. Discuss the nature of representations and warranties in a Marine

Insurance contract.
PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

4.  Elucidate in detail the salient features of the Motor Vehicles Act 1988.

5. ‘Insurance is a contract of Speculation’-Examine the statement in

relation fo Life, Fire and Marine Insurances.

6. “Indemnity is the controlling Principle of all Insurance Contract”. What

are the corollary principles of Indemnity — Explain,

[P.T.0]



PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :

(a) Perils of the Sea.

(b) Felo De Se.

(¢) Proximate Cause.

(d) Revival of Policy

(e) Intermediaries.

() Insured Peril and Excluded Peril.

(g) Meaning of ‘Fire’ in policy and ‘Fire’ Loss.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

Certain goods including hides and tobacco were insured under a marine
policy. During a storm the hides were wetted by sea water and became
putrid. Fumes from the putrid hides spoiled the flavour of tobacco
rendering it unfit for use. Is the Insurer Hable?

A person who had insured his life, committed forgery. He became
bankrupt and was also executed for his crime. His assignees in
Bankruptey claimed the life Insurance amount. Will they succeed in
their claim?

A shopkeeper insured his glass-plate against any loss or damage caused
except fire. Fire broke out in a neighbour’s property, as a result of the
fire a mob gathered. The mob then rioted and broke the plate-glass. Is
the Insurer liable to make up the loss?

2 H 1950
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Register No.

H 1951 HYA/HASBD/
CHAGD/HBLDY/
CHB5D/HCHDY/
CHCSHID/HDSDY
CHD5D

B.A. B.L.. (Hons.)/B.A, LL.B. (Hons.)/B.Com. LL.B. (Hons.)/
B.B.A. LI.B. (Hons.)/JB.C.A. LL.B. (Hons.)
DEGREE (Semester) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2018)
Fourth Year — Seventh Semester/Third Year — Fifth Semester
COMPANY LAW

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. “A company is a legal entity distinct from its members”. In what cases
do the courts ignore this principle. Discuss with cases.

2. Discuss the doctrine of ultra vires vis — a — vis a company, the directors
and the Articles. What is the legal effect of ultra vires acts?

3.  “Majority will have its way but the minority must be allowed to have its

say” — Discuss.
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4. Describe briefly the procedure for effecting the conversion of a private
company into a public company. How does a private company differ
from a public company?

5. “A promoter stands in a fiduciary relation towards the company he

promotes” — Explain.

6. Describe the different kinds of meetings and explain the requisites for a
valid meeting.

[P.T.0]



PART C — (6 x 4 = 20 marks)
Write short notes on FIVE of the following :
() Doctrine of constructive notice
(b) Resolutions
(¢} Voluntary winding up
(d) NCLT
(e) Independent director
(f)  Corporate social responsibility

(2) Sweat Equity Shares.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

An allottee of shares in a company brought action against a director in
respect of false statements in a prospectus. The director contended that
the statements were prepared by the promoters and he had relied on
them. Is the director liable under the circumstances?

The promoters of a company before its incorporation enter into an
agreement with T” to buy a plot of land on behalf of the company. After
incorporation the company refuses to buy the said plot of land. Decide
the remedy available to ‘P,

The Articles of Association of a company provided that the directors of a
company had power to borrow up to Rs.10,000/— without the consent of
the general meeting. The directors themselves lent Rs.35,000 to the
company without such consent and took debentures. Is the company
liable for Rs.35,000/—. Decide.

10.

2 H 1951



Register No.

H 2018 HYB/HA7C/CHAGB/
HBDB/HB7C/CHB6B/
HC7C/CHC6C/
HD7C/CHDGB

B.A. B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com. B.L. (Hons.)/B.Com. LL.B
(Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS,

JANUARY 2021.

(For the candidates admitted from 2011 to 2017)

Fourth Year — Seventh Semester/Third Year — Sixth Semester

LABOUR LAW —1

Time : 21 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Define "Industry” and evaluate how the Supreme Court of India has
extended the scope of industry through its decisions.

2.  IExplain the concepts of "Minimum wage”, and "Living wage". Elucidate
whether financial ability of an employer can be considered as a relevant
factor in determining the "minimum wage" or "living wage" in any
industry.

3. "It is quite possible, that 'collective bargaining' will make real headway
only when compulsory adjudication is withdrawn from much of the
industrial field”. Justify this statement with reference to the value of
agreements arrved through Collective Bargaining.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Define 'strike' and explain when does a strike become illegal under the
Industrial Disputes Act 1947.

5. Examine the Unfair labour practices committed by the workers and
employers.

6. Define Lay off' and discuss the conditions under which the workmen
laid off are entitled for compensation.

[P.T.0.]



PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following:
(a) Voluntary arbitration

(b) Domestic Enquiry

(¢) Court of Inquiry

(d) ILO

(¢) 'Trade union funds

) Wage period

(g) Joint Management Councils.
PART D — (2 x 6 = 12 marks)

Angwer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

Santu and Gopl are employed as drivers of the buses in an industry.
Their duty is to carry the employees to and fro from the industry and
railway station. The drivers are retrenched from the service by the
employer by oral order. Santu and Gopi challenge the validity of
retrenchment - Decide. )

The workers union of Gemini Textile Industry Pvt. Litd. refuse to
support 'X', a dismissed employee. 'X' requested the State Government
to refer his dispute to Labour Court, but the same was refused on the
ground that he was not a workman as defined under the Industrial
Disputes Act 1947-Advise the 'X', the workman.

10. Vasi State Government employed X' and Y' daily wage workers 1n a
construction project by paying T 50 as wages i.e. less than the minimum
wages. Discuss whether the workers X' and 'Y' have right to claim for

minimum wages from the State Government?

2 H 2018
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Register No.

H 2019 LG

B.A. B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(For the candidates admitted from 2011 to 2014)
Fourth Year — Seventh Semester

REGULATORY LAWS

Time : 21 hours Maximum ; 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. "SEBI has three functions rolled into one body, quasi legislative, quasi
judicial and quasi executive" - Explicate.

2. "With the entry of private sector in the provision of telecommunication
services a need was felt to have an independent regulatory body"-
Examine.

3.  Discuss about the Regulatory Commission's power to determine tariff
for supply of electricity by generating a long/medium term contract in
the light of the Electricity Act 2003.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4. Examine the establishment, composition, term of office and conditions of
service of Chairperson and members of Pension Fund Regulatory and
Development Authority.

5.  Explain the Public interest theory of Regulation.

6. Explain the structure of SEBI and its functions.
PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following:
(a) Functions of TRAT
(b) Licensing under the Electricity Act, 2003.

[P.T.0.]



(¢) Recommendations on reforming the guidelines on
Transfer/Mergers of Telecom Licences

(d) Measures against theft of electricity
(e) National Pension Scheme under the PFRDA Act, 2013.

) Regulatory Commissions/Appellate Tribunal under the Electricity
Act, 2003.

(g) Captive generating plant.
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to relevant provisions of law and

10.

decided cases. Give cogent reasons.

The appellant was President of a Stock exchange. During his tenure, the
appellant was allegedly involved in certain irregularities. Based on the
findings of an inspection of the stock exchange, the appellant was issued
a show cause notice seeking explanation. Based on written reply and
oral submissions it was concluded that the appellant had exceeded his
authority. The chairman, Securities Exchange Board of India, directed,
by order the appellant to relinquish the office. The appellant challenged
the said order before the securities Appellate Tribunal. Decide.

Calcutta Stock Exchange (CSE) was a recognised stock exchange. SEBI
had promulgated an exit policy by a circular dated 30th may 2012. It is
contended that Exit policy does not apply to CSE. SEBI in exercise of
powers in terms of Exit policy cannot derecognize CSE and for that
matter any stock exchange. Formation of opinion is a pre-requisite for
SEBI to invoke the provisions of SCR Act 19566 (Securities Contract
Regulation Act 1956). The provisions in the Exit Policy do not conform
with the requirements of section 5 of the SCR Aect 1956. Therefore, SEBI
in exercise of powers of this policy cannot derecognize CSE. Provisions
invoked are Sec. 11 (1) and 11 (2) (j) of the SEBI Act 1992 - Decide.

The electric connection of Mohan Singh was checked by officials of the
Punjab State Electricity Board and they found him committing theft of
energy by bypassing the meter. A demand of Rs. 65,620 vide memo
No:1582 dated 11.8.2009 as theft charges was raised. Hence, he filed a

complaint before the Consumer Forum. The Electricity Board contended

that a complaint against the assessment made by the Assessing Officer
under Section 126 or against the offences committed under Sections 135
to 140 of the Electricity Act 2003 is not maintainable before a Consumer
Forum - Decide.

2 H 2019
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Register no.

HYD/HA7YD/CHA7D/HEDD/HB7D/
CHB7D/HC7D/CHC7D/HD7D/CHD7D

B.A. B.L. (Hons.}/B.A. L1.B. (Hons.)/B.Com. B.L. (Hons.}/B.Com. LL.B.
(Hons.)/B.B.A. LL.B. (Hons.)/ B.C.A.LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2017)
Fourth Year — Seventh Semester
BANKING LAW (INCLUDING NEGOTIBALE INSTRUMENTS ACT)
Time: 2% hours Maximum: 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

. Examine the role played by the Reserve Bank of India as the Central
Bank of our country.

. “The main source of supply of banker’s borrowed funds is in the form of
. deposits by the customers” — Explain. '

. What are the safeguards provided in sections 138 — 142 of the Negotiable
Instruments Act to ensure that the genuine customers are not affected?

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

. Discuss about the various kinds of crossing and the effect of crossing of
cheques.

. Explain the rights of a Banker.

. State the subsidiary business operations of the Bankers with special
reference to Safety Deposit Lockers.

PART C — (5 x 4 = 20 marks)

. Write short notes on FIVE of the following:

(a) Paying Banker

(b) Holder

(c) Financial Institutions Act 1993

(d) Special Types of Customer - Minor

{e) Presentation

{f) Parties to Negotiable Instrument

(g) Recurring Deposit Account

(P.T.0))



PART D - {2 x 6 = 12 marks)
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

8. A, obtains a loan from Indian Bank for which B stands as a surety. A
refuses to repay in spite of having sufficient funds. The bank sues B. B
contends that the Bank should first sue A as he had enough funds to
repay the debi-Decide.

9. In the body of a cheque, the words Rupees Seven Hundred’ are written,
whereas the figures read as ‘Rs. 900’. Discuss the liability of the paying
banker to deal with such a cheque on presentation?

10. A, obtains a cheque and puts it in his coat pocket. The coat is sent for
dry wash. Consequently the cheque becomes faded. The bank refuses to
pay it — Decide, the remedies, if any, available for A.



Register No.

H 2020 HYF/HA8C/HBDF/
HBSC/HC8C/HDSC

B.A.B.I.(Hons.)/B.A.LL.B. (Hons.)/B.Com.B.1.. (Hons.)/
B.Com.LL.B. (Hons.)/B.B.A.LL.B. (Hons.)/B.C.A.LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2015)
Fourth Year — Eighth Semester
ENVIRONMENTAL LAW — (Including Animal Welfare Laws)

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 mavrks)
Answer TWO of the following in about 500 words each.

1. Trace the historical and legal developments in the protection of
environment in India. ‘ _

2.  Critically evaluate the role of UN agencies in governing the global
environment.

3. lLExamine the salient features of Bio-medical and Solid Waste
Management Rules.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4.  What is the scope and jurisdiction of Green Tribunal?
5. Examinerthe legal protection for ‘forests and wild life in india.
6. Write a note on “Noise Pollution”.
PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :

(a) Prevention of cruelty to animals
(b) Protection of Tanks and Eviction of Encroachment

(¢) Disaster Management

[P.T.0.]



(d) Environmental impact Assessment

(e) Climate change

() Narmada Bachao Andolan v. Union of India; AIR 2000 SC 3751
() Agenda?2l

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

The petitioners were carrying various business activities in a street. It
is found that some of them were discharging effluents in street. The
Municipal Council issued a notice to treat the water or close the
establishment. The petitioners challenged the notice as it affects their
right to carry business. Decide

An incident of sexual violence occurred which was unnoticed due to
blaring noises in the vicinity. A PIL was filed by the neighbours against
the State to take measures against the noise pollution. Decide.

The X’ Republic and Y’ Socialist Republic are neighbouring countries
sharing an international river. They had traditional water use
agreements entered during 1950-55. The X' Republic wanted to carry
certain development works in the river which could affect the
environmental flows of the downstream of Y. The Y country
questioned the project on the basis of evolving international
environmental law before ICJ. Decide.

2 H 2020



H 1952 HRBDH/HBSB/CHB7C/

A

Register No.|

HYG/HASB/CHATC/

HC8B/CHC7C/HDEB/
CHD7C

B.A. B.L.. (Hons.)/B.A. LL.B. (Hons.)/B.Com. B.L. (Hons.)/
B.Com. LL.B. (Hons.)/B.B.A, LL.B. (Hons.)/B.C.A. LI.B. (Hons.)
DEGREE (Semester) EXAMINATIONS, JANUARY 2021.
(For the candidates admitted from 2011 to 2017)

Fourth Year — Seventh Semester/Fourth Year — Eighth Semester

LABOUR LAW - 11

Time : 21 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

“The concept of social security is based on ideals of human dignity and
Social Justice”— Discuss.

Analyse the scope and applicability of the phrase “arising out of and in
the course of employment” under the Employees Compensation Act.

Explain the provisions under the Gratuity Act 1972 relating to
‘exemption’ and ‘forfeiture’ of Gratuity.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

What are the kinds of benefit and the eligibility to claim the same under
the Employees State Insurance Act 1948?

Define ‘Bonus’. What is the extent of maximum bonus as per the
Payment of Bonus Act 1965 and how is it calculated?

Explain the powers and duties of Inspectors under the Maternity
Benefits Act 1961,

[P.T.O]



10.

PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :

(a) Leave with wages under the Tamil Nadu Shops and Establishment
Act 1947,

(b) Allocable surplus

(¢) ESI Court

(d) Working Hours under the Factories Act 1948
(e) Oeccupational diseases

() Bonug Commission

(g Contracting Out

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of
law and decided cases. Give cogent reasons.

‘Papal’, a workman, working in a textile Industry was a attending at a
weaving tool when there was power cut for scheduled time of 1 hour.
Before the end of the 1 hour there was supply of power and ‘Papal was
injured. He claimed compensation for the injuries suffered. The
management refuses to pay compensation and alleged that ‘Papal’ was
injured due to his negligence. Decide.

Radha was working in the packing unit of an industry since 3¢ July
2010. On 8% September 2014 she applies for maternity leave to the
management. Advise Radha on the legality of her claim for maternity
leave.

K’ is charged of committing fraud in the establishment owned by Y.
Based on the findings of domestic enquiry the charges are found to be
proved. Y’ terminates the service of X’ on the ground of fraud
committed by X’. Upon his termination X’ claims for payment of Bonus.
Y, the emplover of the establishment refuses to pay. Decide.

2 II 1952
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Register no.

HYH/HAXD/CHASE/HBED/
HBXD/CHBSE/HCXD/CHCSE

B.A.B.L. {Hons.}/B.A. LL.B. (Hons.}/B.Com. B.L. (Hons.)/B.Com. LL.B.
{(Hons.)/B.B.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(For the candidates admitted from 2011 to 2016)
Fourth Year- Eighth Semester/Fifth Year — Tenth Semester
CYBER LAW AND FORENSICS
Time: 2% hours Maximum: 70 marks

PART A - (2 x 12 = 24 marks})
Answer TWO of the following in about 500 words each.

—

. Critically evaluate the impact of police investigation, practical tools and
techniques for tackling Cyber Terrorism in India.

2. Analyse the process, application and authenticity of Digital Signature.
3. Define E-contract and bring out the legal validity of E-contract.

PART B - (2 x 7 = 14 marks]}
Answer TWO of the following in about 300 words each.

4. Discuss about the International position of Internet Jurisdiction.
5. Bring out the procedures and powers of the Cyber Appellate Tribunal.
6. Highlight the various challenges for Internet taxation.

PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following:

(@ Computer as a tool

{b) Cloud Computing

(c) Domain Name

(d) Cyber Arbitration

{e) Issue of censorship

{f) Double Taxation

{(g) Copyright Issues in Internet

(P.T.O.)



PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

8. Either by using communication device or computer resource, Mr. A
represented himself to be Mr. C, a reputed person and entered into E-
contract with Mr. B. Decide the liability of Mr. A, if any?

9. In a given situation, employer files have been deleted, disks have been
reformatted and other steps have been taken to conceal or destroy the
evidence. How to recover the evidence using any forensics tool to
safeguard the employer?

10. A, wanted to marry B, a widow. On her refusal, A started posting online
messages in her name as if B is soliciting. These messages resulted in
annoying phone calls. B made a police complaint. Discuss the liability of
A under the Indian Penal Code and the Information Technology Act.
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Register No. i

H 1954 HYI/HAGA/CHASA/
HBDI/BBSA/CHBSA/MC6A/
CHCSA/HDGA/CHDSA

B.A.B.L.(Hons.)/B.A.LL.B.(Hons.)/B.Com.B.L.(Hons.)/B.Com.LL.B.
(Hons.)/B.B.A.LL.B.(Hons.)/B.C.A.LL.B.(Hons.) DEGREE (SEMESTER)
EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2016)

Fourth Year — Kighth Semester / Third Year — Sixth Semester
COMPETITION LAW

Time : 2% hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. Define the terin “Relevant Market”. What ave the factors taken into
consideration in deciding relevant market?

2.  Discuss the provisions regulating combinations under the Competition
Act 2002. Elucidate the procedure for investigation by CCI with
reference to case laws.

3. “The prowvisions relating fo anticompetitive agreements preserve the
Monopoly aspects of IP rights granted in India and also permit
imposition of reasonable rights that may be necessary to protect those
rights” — Discuss.

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

4,  Write a note on extraterritorial jurisdiction of Competition Commission
of India.

5.  Discuss the provisions relating to Tie in arrangements with decided case
laws.

6. Define the term “agrcement” under the Competition Act 2002 with the
help of decided cases.

[PT.0]



PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :

(a) Rule of reason

(b) Raghavan Committee Report
(¢ COMPAT

(d) Cement Cartellisation Case

(e) Resale Price Maintenance
(f) Sherman Act

() Restrictive Trade Practices
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

A Gas distributor insists his customers, to buy a gas stove as a condition
to the gas connection. Is this condition valid? Decide.

Das & Co. was a manufacturer of medicines. They entered into an
agreement with their wholesale agents that medicines were to be sold at
not less than the prices indicated therein. In case of retailers also they
were not to sell at less than the full retail price printed on packages.

A complaint was filed against Das & Co stating that it was price fixing.
Decide.

10. Maricopa Medical Society was established by doctors to promote fee for
service medicine and to promote the community, with a competitive
alternative to existing health insurance plans. The foundation by
agreement of their member doctors established the maximum fees
doctors could claim for policy holders of specified insurance plans.
A complaint was filed stating that they were engaged in price fixing

conspiracy. Decide.

2 H 1954
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Register No. |

H 1955 HZA/HA9A/ HBEA/
HBYA/HCIA/HDYA

B.A. B.L.. (Hons.)/ B.A. LI..B. (Hons.)/B.Com. B.L. (Hons.)/
B.Com. LL.B. (Hons.)/ B.B.A. LL.B. (Hons.)/ B.C.A. LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2015)
Fifth Year — Ninth Semester
LAW OF TAXATION

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 mavrks)
Answer TWO of the following in about 500 words each.
1. Discuss about the chapter deductions under the Income Tax Aqt, 1961.

2. Discuss about scope of Supply, Time and Value of supply under
the Tamil Nadu Goods and Services Tax Act, 2017.

3. Define capital gain. Discuss about income from capital gain.
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4.  Discuss about the procedure for clubbing of Income under the Income
Tax Act, 1961.

5. Examine the impacts of 1015t amendment to the Constitution of India
with respect to GST Council.

6. Discuss about the assessment procedures under the TNGST Act, 2017.
PART C — (b x 4 = 20 marks)
7. Write short notes on FIVE of the following :
(a) Income Tax Act and Finance Act
(b) Agricultural Income

(¢) Income from other sources

[P.T.O]



(d) Advance Ruling

(e) Integrated GST Act, 2017.
() Special class of assessee
(g) Residential status

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law.

8.

10.

Give cogent reasons.

The income and expenditure particulars of Mrs. M for the previous year
is as follows :

Income (per annum)
(a) Basic pay = Rs. 25 lakhs
(b) D.A.=Rs. 1blakhs
(¢ H.R.A.=Rs. 2lakhs
(d) Winning from game show = Rs, 60 lakhs
(e) Agricultural Income = Rs. 15 lakhs

Expenses (per annum)

(a) PCS=Rs. 5lakhs

(b) Tuition fee = Rs. 80,000/-

(¢) Contribution to eyclone fund = Rs. 50,000/-
(d) Expenditure on Heart surgery = Rs. 7 lakhs

Calculate the taxable income of Mrs. M for the assessment year
2020 — 2021.

Mr. R is working in TNEB as Assistant Engineer. His Basic pay is
Rs. 84,000 per month and D.A. is 12% of Basic pay. He receives a House
Rent Allowance of Rs, 4,500 per month. He pays a rent of Rs. 9,000 per
month. Calculate the amount eligible for deduction under Sec. 10 (134)
of the Income Tax Act, 1961.

M/S MNO Ltd. Co. is a garments company and having turnover of
around Rs. 1.3 crore. Decide whether the company is eligible to apply for
Composition levy under the TNGST Act, 2017.

2 H 1955
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Register No.

H 1956 H7ZB/HA9B/CHAYB/HBEB/
HB9B/CHBSB/HC9B/
CHCIB/HDIB/CHDYB

B.A. B.L.. (Hons.)/ B.A. LL.B. (Hons.)/ B.Com. B.L.. (Hons.)/
B.Com. L.1.B. (Hons.)/ B.B.A. LIL.B. (Hons.)Y B.C.A. LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2016)
Fifth Year — Ninth Semester

LAW OF CRIMES - II (CODE OF CRIMINAL PROCEDURE;
INCLUDING JUVENILE JUSTICE CARE AND PROTECTION ACT
AND PROBATION OF OFFENDERS ACT)

Time : 21 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Discuss the evidentiary value of an FIR and the effect of delay in lodging
of the FIR.

2.  Critically examine the powers of the Supreme Court and High Courts to
transfer criminal cases and appeals.

3. Examine the applica.bi]jty of the principle of Double Jeopardy under
Cr.PC.

PAR'T B—(@x7=14 mark's)
Answer TWO of the following in about 300 words each.
4.  Discuss the provisions relating to bail in non-bailable offences.
5. Discuss the provisions for taking cognizance of offences by Magistrate.

6.  Discuss the constitution and power of Child Welfare Board.

[P.T.0.]



PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following:

()
(b)
(©)
(d)
(e)
®
(2)

Probation officers
Suspension of sentence
Warrant case

Recall of witness
Police Report

Joinder of charge

Juvenile Justice Board

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

A court of Judicial magistrate of First class issues a warrant of arrest to
arrest the proprietor of a firm without mentioning the name and
description of the proprietor. ls the warrant of arrest valid? Give
Teasons.

A foreigner lands at Chennail without valid passport. He travels to
Pondicherry and then to Goa. Finally, he is arrested at Trichy. Decide
where his trial can be prosecuted.

‘A' was arrested for the offence of Murder and on the request of police
he was remanded up to 90 Days. Inspite of that, the police could not
complete the investigation and requested for further remand. Decide the
legality.

H 1956



Register no.

HZC/HA9C/CHA9C/HBEF/HB9C/
CHBOC/HC9C/CHC9C/HD9C/CHDAC

B.A.B.L. (Hons.}/B.A.v LL.B. (Hons.)/B.Com. B.L. (Hons.)/B.Com. LL.B.
(Hons.}/B.B.A. LL.B. (Hons.)/B.C.A.LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2016)
Fifth Year — Ninth Semester
CIVIL PROCEDURE CODE
Time: 2% hours Maximum: 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. “An executing court cannot go behind the decree” — Discuss the provision
with exceptions if any.

2. “Nemo debet bis vexari pro una et eadem causa” — Explain the maxim
with the relevant provision of the Civil Procedure Code.

3. “The Law of limitation bars a remedy but does not destroy a right” —
Discuss.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. What is Res subjudice? Distinguish it from Res judicata.

5. Explain the provisions of Civil Procedure Code regarding the place of
suing. '

O

. Distinguish Appeal and Revision.

PART C - (5 x4 = 20 marks)

7. Write short notes on FIVE of the following:

(a) Interrogatories

(b) Caveat

{c) Suit by Indigent person

(d) Garnishee

(e) Temporary Injunction

() Premature discovery

(g) Precept

(P.T.O.)



PART D — (2 x 6 = 12 marks)
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

8. A suit is filed by Raju against Sam. On the date of hearing, an application
for adjournment is moved on behalf of the defendant Sam, on the ground
that the Senior Counsel is engaged in another Court. The request was
rejected by the Court and the Court directs the junior to cross-examine
but he declines to do so and the suit is decreed ex parte. Now an
application for setting aside the ex parte decree is moved. Decide.

9. A money decree was passed against a firm in a suit in which the partners
were not served individually with summons and the decree holder
intends to execute the decree against the personal property of the
partners. Advise the decree holder.

10. Ramesh borrowed Rs. 2 lakhs from Prem under a promissory note, but
defaulted in payment. The right to sue arose on 11-11-2013 in favour of
Prem. On 14-03-2015 Prem died, leaving behind his minor son Suresh of
16 years as sole heir. What is the limitation period available to Suresh
against Ramesh?



H 2021 HZD/HASD/HBEC/

AS

Register No.

HB9D/HC9D/HDYD

B.A.B.L. (Hons.)/B.A.LL.B. (Hons,) B.Com.B.L. (Hons.)/
B.Com.LL.B. (Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons)
DEGREE (SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2015)
Fifth Year — Ninth Semester
LAW OF ELECTIONS

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
Write about the evolution of Democracy and the Election System.

Define ‘Defection” and analyse the need for a strong law to deal with
defection in the mterest of the establishment of a stable government.

Discuss with legal provisions and cases to substantiate how the
Constitution of India expressly prevents interference of courts in
electoral matters.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

Analyse the various corrupt practices in elections and the legal
measures to tackle the same,

Write about the efficacy of the institution of Lokpal and suggest modes
to augment the strength of the institution.

Explain the various electoral practices adopted in the modern context of
technological developments in voting, counting and declaring results.

PART C — (b x 4 = 20 marks)

Write short notes on FIVE of the following :
(a) Auditing of party funds
(b) General Electoral Roll

[PT.0]



(¢) Universal adult suffrage
(d) VVPAT

(e) Exitpoll

() Freebies

(g) Election campaign.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

Mr. X, a candidate, has not mentioned his wife’s name in the nomination
paper. The candidate had married a woman in the early stages of his
life but he did not have any relationship with the woman he married
from the date of marriage itself. Decide the validity of the nomination.

An election petition was filed by the defeated candidate, alleging
malpractices in a few polling booths and praying for a re-poll and for
declaring the election restlt as void. Decide.

A voter was not permitted to cast his vote by the returning officer due to
an error i1n the electoral roll. The election was decided by one vote
margin. The voter challenges the result and prays for a repoll. Decide.

2 H 2021
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Register no.

HZF/HAXB/CHASC/HBEG/HBXB/CHBS8C/
HCXB/CHC8C/HDXB/CHDS8C

B.A.B.L.(Hons.})/B.A. LL.B. (Hons.)/B.Com.B.L.{Hons.}/B.Com. LL.B.
(Hons.}/B.B.A. LL.B. (Hons.}/ B.C.A.LL.B, (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2016)
Fourth Year — Eighth Semester/Fifth Year - Tenth Semester
PRIVATE INTERNATIONAL LAW
Time: 2% hours Maximum: 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

. Discuss the definition, nature and scope of Private International Law.

. What are the defences available in an action to enforce a foreign judgment
in India?

. Explain application of the rules in cases of interpersonal conflict of laws
in India.

PART B - (2 x 7 = 14 marks}
Answer TWO of the following in about 300 words each.

. With reference to judicial decisions, discuss the English and Indian
position regarding choice of law in case of contracts.

. What are the jurisdictional rules under Private International Law relating
to the custedy of child?

. Write a note on Renvoi.

PART C - (5 x 4 = 20 marks)
. Write short notes on FIVE of the following:
(a) Domicile.
{b) Proof of foreign law
(c} Lex loci celebrationis
(d) Law of Guardianship
(e) Characteristics of Status
(f) Nullity of Marriage
(g) Plea of lis alibi pendens
(P.T.0.)



PART D - (2 x 6 = 12 marks}
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

8. Abdul Rahim domiciled in India married Elizabeth who is domiciled in
England. Their marriage took place in England. After their marriage,
both husband and wife settled down in India. After sometime, Abdul
Rahim dissolved the marriage by pronouncing “Talaq” according to the
Muslim Law, in India. Elizabeth returned to England and married
Charles custody in England. Examine whether Elizabeth’s marriage
with Charles is valid?

9. James, an American Citizen, obtained an order of custody of his child
in his favour from the U.S. Court. Lakshmi, wife of James had
brought the child to India before the pronouncement of the order and
the child is studying in India for the last two years. Whether the U.S.
judgments can be recognised and enforced by Indian Courts. Decide
the case.

10. Niranjan is a minor whose grandfather lived in Sri Lanka. The father
of Niranjan planned to move to Chennai with his wife and Niranjan,
who was born at Bangladesh. The father of Niranjan had been
carrying business in Bangladesh and died there. The father kept on
writing to the family that he will return to Chennai after closing his
business. Fix the domicile of Niranjan.
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Register no.

HZG/HASA/CHASA

B.A.B.L. (Hons.}/B.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2018)
Fifth Year — Tenth Semester/Third Year — Fifth Semester
MARITIME LAW
Time: 2% hours Maximum: 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. An ‘action in rem’ is directed towards the ship rather than against the
person. Examine the statement with reference to Maritime laws in India
and UK with relevant case laws.

2. Discuss the procedure and principles involved in the sale of a ship.

3. Discuss the civil and criminal jurisdiction over the ships with relevant
case laws.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Explain the importance of the Maritime Zones Act, 1976.

w

. Analyse the significance of safety and security regulations of ships at sea
and in ports.

6. Define Continental shelf and explain its importance under the Maritime
Law.
PART C — (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(&) Flag of convenience
(b) Bottomry bond
{c) Piracy
(d) Contract of Indemnity
(e) EEZ
(f) M.V. Elisabeth and ors. v. Harwan Investment and Trading Pvt. Ltd.
AIR 1993 SC 1014.
(g) Towage

(P.T.0.)



PART D — (2 x 6 = 12 marks)
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

8. A wild gale was raging when two ships X" and Y’ were lying alongside one
another in the port. In an attempt to put X’ out to sea, the ropes of Y’
were cut off. Due to this, ¥’ drifted ashore and got damaged. Whether
Maritime lien is applicable in this case? — Decide.

9. A mobile offshore drilling unit was arrested for the purpose of obtaining
security in relation to a dispute under a Sub-Charter Party, which is in
reference to arbitration. An application was filed by the defendant to set
aside the arrest on the ground that the drilling unit was not a ship.
Decide.

10. A X’ Company Association’s Vessel collided with a ship Y’. The deck
officer ‘Z’ was killed in the incident. The widow of Z’ claims compensation
against the association. Decide the liability.
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Register no. I ’

HZH/HAXC/CHA8D/HBEI/HBXC/
CHB8D/HCXC/CHC8D/HDXC/CHDS8D

B.A.B.L.(Hons.}/B.A. LL.B. (Hons.)/B.Com. B.L.(Hons.)/B.Com. LL.B.
(Hons.)/B.B.A. LL.B. {Hons.}/ B.C.A.LL.B. {Hons.} DEGREE
(SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2011 to 2016)
Fourth Year — Eighth Semester /Fifth Year -~ Tenth Semester
INTERNATIONAL TRADE LAW

Time: 2% hours Maximum: 70 marks

4

S

6.

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Discuss the various theories of International Trade,

Discuss the economic conflict between Bilateral v. Multilateral Trade
Negotiations with respect to the question of sovereignty, environment and
labour with the influence of special interests.

Discuss the concepts of “Geoeconomic Warfare,” and “Political and
Economic Hegemony”, and analyse the economic and political
ramifications of U.S. Trade Policies.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Summarize and critically analyse the merits and demerits of free trade.
State and explain the sources of International Trade Law.
Examine the role of WTO during economic recession.

PART C - (5 x 4 = 20 marks)

Write short notes on FIVE of the following:

(a) ITO v. WTO

(b) TRIMs

(c) WIPO

(d) NIEO

(e} UNCTAD

(f) Regional Organisation

(

g} Appellate Body

(P.T.O.)



PART D - (2 x 6 = 12 marks)

Answer TWO of the following by referring to relevant provisions of law
and decided cases. Give cogent reasons.

8. Republic of Ottino is a most favoured nation for Republic of Balkova.
Republic of Balkova entered into a treaty with Ottino to import and
sell the genetically modified fruits which is completely banned in the
Republic of Balkova. The political parties of Balkova, raised their voice
to restrict the genetically modified fruits from the Republic of Ottino.
Will they succeed?

9. Pine, a communist state, transfers its wireless technology to the State
of Amla, which is poor in wireless technology. The Pine state also
gained huge profit through the transfer of technology. The people of
Pine opposed this political move by the government. Due to these
internal crises, Pine state withdraws the technological transfer to
State of Amla. Amla filed the case by approaching the DSB. Will it
succeed?

10. State of Zera sold the imported wine at lesser amount than the wine
produced by the domestic manufacturers. The domestic
manufacturers raised this issue against the State. Fix the National
Treatment clause and decide the case.
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Register no.

HZI/HB6B/CHB6C

B.A. B.L. (Hons.}/B.Com. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, JANUARY 2021.

{For the candidates admitted from 2011 - 2017)
Fifth Year — Tenth Semester/Third Year — Sixth Semester
CUSTOMS AND EXCISE LAWS
Time: 2% hours Maximum: 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Explain the various officers of customs under the Customs Act 1962.

2. Explain the nature, scope and basis of levy of Central Excise Duty under
the Central Excise Act 1944,

3. Discuss the procedure relating to levy and exemption of customs duties.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Examine the duties charged upon persons possessing notified goods.

5. Write a note on Set Off of duty scheme under the Central Excise Act
1944,

6. Explain the prevention or detection of illegally imported goods under the
Customs Act 1962.
PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) Power to grant exemption from customs duty
(b) Seizure
(¢} Confiscation
{d) Goods under the Customs Act
(¢) Bill of Entry
(f) Warehousing

{g) Customs area

(P.T.0))



PART D — (2 x 6 = 12 marks)
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

8. XYZ' Ltd. Co., imported drawing and designs in paper form through
Professional Courier and post parcels. However the Asst, Commissioner
levied duty on them — Decide.

9. A vessel Bhishma, sailing from USA to Australia via. India carries various
types of products namely A, B, C, and D. A & B are destined to Mumbai
Port. On submission of bill of transhipment, product ‘A’ transhipped to
Chennai port as ultimate destination in India and product B’
transhipped to Sri Lanka. Find the imported goods, Transhipment Goods
and Transit goods?

10. An order of customs clearance of goods is made but before the goods are
actually cleared, the goods are pilfered. Whether customs duty is
leviable?
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Register no.

HAXA/HBXA/HCXA/HDXA

B.A. LL.B. (Hons.)/B.Com. LL.B. {(Hons.)/B.B.A. LL.B. (Hons.}/
B.C.A.LL.B. (Hons.) DEGREE {(SEMESTER) EXAMINATIONS,
JANUARY 2021.

(For the candidates admitted during the academic year 2015-2016)
Fifth Year — Tenth Semester
CRIMINOLOGY AND PENOLOGY
Time: 2% hours Maximum: 70 marks
PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Examine the relationship between mental deficiency and criminal
behaviour with the aid of theories propounded by the Criminologists.

2. Explain the major legal functions of police which measures the real
performance of police system.

3. State the classification of prisoners and discuss the rights of the

prisoners.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Explain the scope of Probation under the Cr.P.C. and the Probation of
Offenders Act, 1958.

5. Discuss the provision relating to Rehabilitation and Social Reintegration
of the child in conflict with law and the child in need of care and
protection, under the Juvenile Justice (Care and Protection of Children)
Act, 2015,

6. Examine the evaluation of crime prevention programme in India.
PART C — (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) Meaning of criminology
(b) Distinguish between White-collar Crime and Blue-collar Crime.
(c) Cyber crime against women
(dj Anti-terrorist measures.
(e} Plea-bargaining
{f) Parole
(g) Dr. Wrecklers Committee Report

(P.T.0)



PART D - (2 x 6 = 12 marks)
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

8. R, a juvenile, facing enquiry before the Juvenile Justice Board placed his
defenice for the alleged offence charged against him. The defence is that,
as his parents frequently involved in quarrels in front of him it caused
psychological disturbance and to overcome that sfress, he involved in the
charged offence. Decide whether the defence raised by Mr.R is valid?

9. Mr. X got admitted in a private hospital to take treatment for lower
abdominal pain. He was diagnosed with stone in one of the kidneys and
was advised to remove the kidney. Mr. X consented for the same and
surgery was successfully done. After two months he visited another
hospital for abdominal pain and was found that, his healthy kidney was
removed instead of the affected kidney. Advise Mr. X to get appropriate
remedy.

10. Mr. A, who is a life convict, received information about the death of his
father. Mr. A is detained in central prison as a convict prisoner. Advise
Mr.A.
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B.Com. B.L.. (Hons.)/B.Com, LL.B. (Hons.)/B.B.A. LI..B. (Hons.)/
B.C.A. LI.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(FFor the candidates admitted from 2011 and 2019)
First Year — Second Semester

BUSINESS ENGLISH

Time : 24 hours Maximum : 70 marks

E.'J'[

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
Define Communication. Explain the types of communication.

What is Insurance Correspondence? Write the merits and demerits of
insurance Correspondence.

Explain the modern forms of coonmunication.
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

Write a letter to the HR Manager, ABC Private Ltd. applying for the
post of a Legal Adwvisor, (with resume),

Write a letter to Bank Manager for closing the Current account of your
company.

Prepare an Agenda and the minutes of the shareholders meeting of XYZ
Private Ltd.

PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :
(a) Importance of communication
(b} Barriers to communication
(c) What are the essential qualities of a good business letter?

(d) What is a Circular letter?

[P-T.0]
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®
(g)

What is the main purpose of Business Correspondence?
Explain the importance of Memorandum?
Explain the merits and demerits of Websites.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(c)
(d)
(e)
()
&)
(h)

Non-verbal Communication
AIDA formula

LSRW skills

Office Order

Agency correspondence.,
E-Communication

LPG
Report.
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B.Com. B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(For the candidates admitted during 2013 and 2014)

First Year — Second Semester
PRINCIPLES OF MANAGEMENT
Time : 21 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. Discuss the scope and functions of Management.

2.  Discuss the advantages and disadvantages of Formal and Informal
organisation,

3.  Critically examine the need hierarchy theory of motivation propounded
by Abraham Maslow.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4.  FElaborate on the steps involved in Planning.
5. Explain the general principles for ethics of Lawyers.

6.  Briefly explain the various types of co-ordination.
PART C — (6 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :
(a) Elucdate the role played by the manager in an organisation.
(b) Explain the Levels of management.
(¢) Brefly explain the bases for decision-making.

() Discuss the steps in the control process.

[P.T.0]
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Distinguish between Centralisation and Decentralisation.

Explain McGregor’s X and Y theory.

Describe the important qualities of a leader.

PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly.

(@)
(b)
(©
(D
(e)
4
(2)
(h)

Management.

Forecasting.

HRD.

ICT.

Authority and responsibility.
Management by Objectives.
Intellectual gkills.

Secalar Chain.

H 1961
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B.Com. B.L.. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(I'or the candidates admitted during 2013 and 2014)
First Year — Second Semester

PRINCIPLES OF ACCOUNTING
Time : 21 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Angswer TWO of the following in about 500 words each.

1. Enuwmerate in detail the accounting concepts, which guide an accountant
in the recording stage.

2. The following balances were extracted from the books of Prasad on 31st

March 2004.

Particulars Rs. Particulars Rs.
Capital 50,000 Creditors 5,000
Drawings 4,000 Bad debts 1,100
General expenses 5,000 Loan 15,760
Buildings 22,000 Sales 1,530,720
Machinery 18,680 Purchases 94,000
Stock 32,400 Motor car 4,000
Power : 4,480 Reserve fund (Cr.) 1,800 -
Taxes and Insurance 2,630 Commission (Cr.) 2,640
Wages 14,400 Car expenses 3,600
Debtors 12,560 DBills payable 6,700
Bank overdraft 6,600 Cash 160
Charity 210

Stock on 31t March 2004 was valued at Rs. 47,000. Prepare the final
accounts for the year ended on 315t March 2004.

[P.T.O.]
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Sunil, Devan and Ravi are equal partners in a firm and their Balance
sheet as on 31.12.2000 is given below :

Liabilities Rs. Assets Rs.
Capital : Machinery 43,500
Sunil 15,000 Furniture 1,500
Devan 12,000 Debtors 30,000
Ravi 18,000 Stock 15,000
Reserve 4,500
Creditors 40,500

90,000 90,000

Ravi retired on 31.12.2000 and assets were revalued as under :

Machinery Rs. 51,000. Furniture Rs. 1,200, Debtors Rs. 28,500, Stock
Rs. 14,700. Goodwill of the firm is valued at Rs. 9,000 and Ravi’s share
of goodwill is to be adjusted to continuing partners capital accounts.

(Give journal entries. Prepare necessary ledger accounts and new
balance sheet.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

List out the advantages of Ratio analysis.

Mr. P purchased 4 nos. of cars for Rs. 14,000 each on 1.1.2005 under the
hire purchase system. The hire purchase price for all the 4 cars was
Rs. 60,000 to be paid as Rs. 15,000 down payment and 3 equal
instalments of Rs. 15,000 each at the end of each year. Interest is
charged at 5% p.a. The buyer depreciates the car at 10% p.a. on straight
line method.

From the above particulars prepare relevant A/Cs in the books of Mr. P.

The share capital of a company consisted of 10,000 equity shares of
Rs. 100 each fully paid and 5,000, 8% preference shares of Rs. 100 each
fully paid.

Each equity share is reduced to share of Re. 50 each fully paid.

Preference shareholders agreed to accept 12% preference shares of
Rs. 75 each fully paid for each existing preference shares.

Give journal entries for the above.

2 H 2023
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PART C — (b x 4 = 20 marks)
7.  Write short notes on FIVE of the following :

(a) Briefly explain any four differences between Financial Accounting
and Management Accounting.

(b) A fire occurred at the premises of a trader on 31.5.2006 destroying
a great part of his goods. His stock wvalue on 1.1.2006 was
Rs. 60,000. The value of stock salvaged was Rs. 13,500. The gross
profit on sales was 30% and sales amounted to Rs. 1,53,000 from
January to date of fire, while for the same period the purchases
amounted to Rs. 1,03,500. Prepare statement of claim.

(¢) Show how the following items will appear in the capital accounts of
the partners, Babu and Gopu when their capitals are fluctuating:

Babu Gopu
Rs. Rs.
Capital on 1.1.2007 8,00,000  7,00,000
Drawings during 2007 1,60,000 1,40,000
Interest at 5% on drawings 4,000 2,000
Share of profits for 2007 84,000 66,000
Interest on capital at 6% 48,000 42 000
Salary 72,000 Nil

() Determine the maximum remuneration payable to a full time
Director of Aruvi Litd. Profit and loss account showed Rs. 40,00,000
after taking the following into account.:

(1) Depreciation Rs. 1,00,000 (including special depreciation of
Rs. 40,000)

(i) Provision for Income Tax Rs. 2,00,000

(111) Donation to political parties Rs. 50,000

(iv) Ex gratia payment to workers Rs. 10,000

(v) Capital profit on sale of assets Rs. 15,000.

() Calculate Funds from operations from the following :

Profit and Loss account

Particulars Rs. Particulars * Rs.

To Administration expenses 25,000 By Gross profit 2,15,000
To Selling expenses 16,000 By Interest on investments 5,000
To Depreciation 26,000 By Profit on sale of machinery 4,000
To Loss on sale of building 6,000
To Goodwill written off 5,000
To scount on 1ssue of debentures 2,000
To Net profit 1,44,000

2,24,000 2,24,000

3 H 2023
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(g)

State the differences between Interim dividend and Final dividend.
Distinguish between Fund Flow statement and Balance sheet.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(©

(d)

(e)

(0

(@)
(h)

Tangible and intangible assets with example.
Difference between Hire Purchase and Instalment systems.

A and B are partners in a business sharing profits in the ratio of
5 : 3. They decide to admit C into the firm giving him 1/6% ghare.
Calculate the new profit sharing ratio and sacrificing ratio of the
partners.

A company’s Profit and loss account balance on 31.03.2008 was
Rs. 1,80,000. The Board has taken the following decisions.

(1}  Transfer to general reserve Rs. 25,000
(1) Proposed dividend on preference shares Rs. 30,000
(iii) Equity share dividend proposed Rs. 30,000
(iv) Transfer to dividend equalisation fund Rs. 40,000
. Prepare Profit and loss appropriation account of the company.

Calculate Gross profit ratio from the following figures:-

Sales Rs. 10,00,000
Sales returns Rs. 1,00,000
Opening stock Rs. 2,00,000
Purchases Rs. 6,00,000
Purchase returns Es. 1,50,000
Closing stock Rs. 65,000

Pass the necessary rectifying entries.

(i) Depreciation of Rs. 200 was charged on machinery but it was
not recorded in depreciation account.

(i) A sale of Rs. 344 was recorded in sales account as Rs. 434,
Receipts and payment account.

Modes of dissolution of a firm.

4 H 2023
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B.Com. B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(I'or the candidates admitted during 2013 and 2014)

Second Year — Third Semester

SOCIOLOGY

Time : 2L hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Discuss the role of Non-Governmental Organisations (NGO's) in
empowering Indian women.

Define caste and explain the traditional characteristics of caste system
in India.

Highlight the differences between primary and secondary groups.
PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

Write a note on Reference group with suitable examples.

Bring out the importance of national integration,

Explain the need and importarice of social control.
PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a) Types of Marriage

(b) Geographical diversity
(¢) Traditional theory

(d) Developments in Sociology

[P.T.0.]



8.

(e)
®
€y

Answer SIX of the following very briefly:

(a)
(b)
(c)
(d)
(e)
(®
(2
(h)

Types of deviance

Self Help Groups (SHGs)

Changes in the Caste System

PART D — (6 x 2 = 12 marks)

Achieved status

Estate system

Tribes

Unity

Races

We-group and they-group
Social pathology

Feminism

H 1962
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B.Com, B.L. (Hons,) DEGREE (SEMESTER)} EXAMINATIONS,
JANUARY 2021.

(For the candidates admitted during 2013 and 2014)
Second Year — Third Semester
FINANCIAL MARKET AND SERVICES
Time : 24 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1.  Explain the structure, Regulation, role and functions of Financial

System in India.
2. Explain various types of financial services.
3. Explain various types of leases.
PART B — (2 x 7= 14 mavrks)
Answer TWO of the following in about 300 wor(;ls each.
4. What are the types of Mutual funds? Explain.
5. What is Money Laundering? Explain its impaect.

6. What are the functions of Stock Exchange? Briefly explain them.,

[P.T.0.]



PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a)

(b)
©
()
(e)
0

(g)

Mention any two differences between Primary and Secondary
Market.

List out the instruments dealt in Money Market.

Briefly explain the term ‘Factoring’.

What are the benefits for investors from Credit Rating Agencies?
What is meant by Debt Securitisation?

What are the advantages for companies from listing their
Securities?

Mention the stages in Money Laundering.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(2)
(b)
©
(d)
(e)
®
()
(b)

Capital Market

Money Market

Leasing

Expand NSDL and LIC
Credit Rating Agencies
De-Mat Account
Listing

Commodities Market

9 H 1963
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H 1964 | HBBH

B.Com. B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(For the candidates admitted during 2013 and 2014)
Second Year -—— Fourth Semester
INITMAN ECONOMICS AND HUMAN RESOURCE DEVELOPMENT

Time : 2% hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.
Analyse the obstacles to the Indian Economic Development.

2. Explain the scope of Human Resources Development in an industrial
enterprise,

3.  IDascuss about the features of New Industrial policy of 1991.
PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.
4.  Discuss about the place of “Agriculture” in the economy of India.

6. What is HRD? Discuss the goals of HRD keeping in view the changing business
scenario.

6.  What are the causes for low productivity in agriculture?
PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following.
(a) Role of public sector
(b) Functions of NABARD
(¢) The importance of Small scale industries in India.
(d) Brief note on the Population policy 2000.
(e) Role of HRD in organization.
(H  Differentiate Economic growth and Development.
(8) Objectives of the National Agricultural Policy 2000

[P.T.O]



PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(c)
(d)
(e
®
(g

(b)

National Income
Agricultural marketing
Social security schemes
Poverty

Measurement of HDI
Inflation

Seasonal unemployment

Mixed Economy

H 1964
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H 1965 | HBCA/HB4A |

B.Com. B.L. (Hons.)/B.Com. LL.B.(Hons.) DEGREE (SEMESTER)
EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2013 to 2015)
Third Year — Fifth Semester/Second Year — Fourth Semester
MARKETING MANAGEMENT
Time : 21 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Explain the marketing concept. Is the marketing concept relevant to
developing economies?

2. Discuss product planning and development.-

3.  Describe the advantages of advertising to the — manufacturers, traders
and consumers.

PART B — (2 x 7 = 14 marks)

Answer TWQO of the following in about 300 words each.

4.  What 1s market segmentation? Discuss the importance of market
segmentation in developing a marketing strategy.

5.  Explain the elements of Marketing Mix.
6. Discuss the types of channels of distribution.
PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :
(r) Distinguish between Product positioning and Brand Positioning.
(b) Discuss the purposes of sales promotion.

(c) Explain the role of marketing in fulfilling the customer needs.

[P.T.0]



(d)
(e)
®
(2)

Discuss the advantages of training to Salesmen.
Explain the services rendered by the wholesalers.
Describe the role of packaging in marketing.

State the salient features of a product.

PART D — (6 x 2 = 12 marks)

Ansgwer SIX of the following very briefly.

(a)
(b)
(@)
c)
(e)
®
()
(h)

Market targeting

Define Markeﬁng

Market positioning

Product Life Cycle

Personal selling

Functions of Marketing — Any two.
Physical distribution

Branding

H 1965
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H 1966 HBCB/HB5A/
CHB5A

B.Com. B.L.(Hons)/B.Com. LL.B. (Hons.) DEGREE (Semester)
EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2013 to 2018)
Third Year — Fifth Semester
FINANCIAL. MANAGEMENT

Time : 21 hours Maximum ; 70 marks
2

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Explain in brief the decisions involved in Financial Management.

2. Abi. Ltd. issued 15,000 12% preference shares of Rs.100 each,
redeemable at 10% premium after 20 years. The floatation costs were
5%. Find out the cost of preference capital if shares are issued
(a) at par;
(b} ata premium of 5% and

(¢) at a discount of 10%.

3. A chemical company belongs to a risk class for which the appropriate
capitalisation rate is 10%. It currently has 50,000 equity shares
(outstanding) selling at Rs.100 each. The firm is contemplating the
declaration of dividend of Rs.8 per share at the current fiscal year which
has just started. Given the assumptions of Modigliani and Miller,
answer the following questions:

(a) What will be the price of the share at the end of the year
(i) If dividend is not declared and ;
(ii) TIfitis declared?

(b) Assuming that the company pays the dividend, has a net income of
Rs.5,00,000 and makes new investment of Rs.10,00,000 during the
period, how many new shares must be issued?

(P.T.0.]



PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Razak Ltd. has a capital structure consisting of equity capital only. It

has 50,000 equity shares of Rs.10 each. Now the company wants to raise

a fund for Rs.1,25,000 for its various investment purposes after

considering the following three alternative methods of financing.

(a) Ifitissues 12500 equity shares of Rs.10 each.

(by If it borrows a debt of Rs.1,25,000 at 8% interest; and

(©

If it issues 1250 8% Preference shares of Rs.100 each.

Show the effect of EPS under various methods of financing if EBIT
(after additional investment) are Rs.1,56,250 and rate of taxation is
@ 50%.

Cost sheet of a company provides the following particulars:

Elements of cost: Raw materials =~ :40%
Labour - 10%
Overheads 1 30%

The following particulars are also available :

(a)
(b)
(©
(d)
(e)
®
(2
()

Raw materials remain in stock for 6 weeks
Processing time : 4 weeks

Finished goods are in stock for 5 weeks
Period of credit allowed to debtors : 10 weeks
Lag in payment of wages : 2 weeks

Period of credit allowed by creditors : 4 weeks
Selling price : Rs.50 P.U.

Production in units : 13000 p.a.

Prepare an estimate of working capital.

Explain the factors determining cost of capital.

2 H 1966



PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(2)

(b)

(©

(d)

(e)

H
(2

Rakesh Litd. earns a profit of Rs.10 per share. The rate of
capitalisation 1s 12% and the productivity of retained earnings (r)
is 10%. Using Gordon’s model determine the market price per
share if the payout is (1) 60% (11) 80% .

Jennifer Litd i1s expecting an annual EBIT of Rs.2,00,000. The
company has Rs.2,00,000 in 10% Debentures. The equity
capitalisation rate (Ke) is 12%. You are required to ascertain the
total value of the firm and overall cost of capital.

The following information is available in respect of Alpha Lid.

Stockholding: Raw materials : 1 month, work - in - progress:
15 days,

Finmished goods : 1 month.
Debtors collection period : 2 months
Time lag in payment of bills : 45 days.

Calculate (1) Operating éycle, (11) Number of opcerating cycles in a
yvear assuming a 360 day year, (i) Average working capital
required, if annual cash operating expenses are Rs. 180 Lakh.

The earnings per share of a company are Rs.24. The cost of equity
capital 1s 10%. The rate of return on investment is 15%. Compute
the market price per share under Walter’s model, if the payout is
(1) 50% (1) 75%

The following 1s the capital structure of a firm:

Sources of finance Amount C/C
, _ (Rs.) V
11% Preference share capital 1,00,000 11%
Equity share capital 4,50,000 18%
Retained Earnings 1,560,000 18%
16% Debt 3,00,000 8%

Calculate the weighted average cost of capital of the firm, based on
the book value weights.

Compare financial leverage with operating leverage.

State briefly the approaches to Financial Management.

3 H 1966



PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(©
(d)

(e)
(£
(2)
(h)

Profit Maximization
Liquidity
Trading on equity

Mather Ltd. issued Rs.8,00,000 8% debentures at a discount of 5%.
The floatation costs are 4%. Assuming tax rate of 40%, compute
cost of debt before tax and after tax.

Variable working capital
Operating cycle
Dividend policy

Calculate operating leverage for Maruti Ltd. from the following
information:

No. of units produced 50,000, selling price per unit Rs.50, variable
cost per unit Rs.20.

Fixed cost per unit at current level of sales is Rs.15. What will be
the new operating leverage, if the variable cost is Rs.30 per unit.

4 H 1966
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B.Com, B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(I'or the candidates admitted during 2013 and 2014)
Third Year — Fifth Semester
COMPANY LAW

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

Define a “Director” of a company. To what extent can the directors of a
company be considered as trustees, agents or organs of the company?

Describe the procedure for winding up of a company by the Tribunal.

“The fundamental attribute of corporate personality is that the company
is a legal entity distinet from the members” — Elucidate the above
statement.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
Examine the legal position of a promoter of a company.

“Prospectus is the window through which compény ig displayed without
distortion” -- Discuss.

Define floating charge. Can a floating charge become a fixed charge?
If so, under what eircumstances?

PART C — (b x 4 = 20 marks)

Write short notes on FIVE of the following:
(a) Allotment of shares.
(b) Proxy.
[P.T.O.]



(¢) Auditor.

(dy SEBI

(e) Foss v. Harbottle.
() Buy back of shares.

(¢) Defunct companies.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

A, B and C entered into a contract as agents on behalf of a company
before its incorporation for the purchase of certain goods from Keyar
and signed it as; “A, B and C — Directors”. The company later obtained
the certificate of incorporation but went into liquidation before the
money was paid for the goods which were supplied to it by Keyar. A suit
was filed against the company. Decide.

The Articles of Association of ‘NS Company’ had a clause whereby the
directors had power to determine who should be entitled to sign
contracts and documents on the company’s behalf. One director NP
describing himself as the chairman and without having been so
authorised, executed and gave a guarantee to the Housten & Co. Ltd. in
the name of ‘NS & Co’. Decide the hability of NS & Co’.

10. A company was formed for the purpose of manufacturing Petrol from
herbs under a Patent which was to be granted by the Government of
TamilNadu and alse for working other patents of similar kind. But the
patent was never granted by the Government stating that the product to
be harmful to its citizens. But the company continued to function. Some
of the shareholders filed a petition for winding up of the company by the

Tribunal. Decide.

2 H 1967
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H 1968 | HBCF/HB4B/CHB4B

B.Com.B.L.(Hons.) B.Com.LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, JANUARY 2021.

(Ifor the candidates admitted from 2013 to 2018)
Third Year — Sixth Semester / Second Year — Fourth Semester
COST AND MANAGEMENT ACCOUNTING

Time : 2% hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. Distinguish between financial accounting and cost accounting.

2. Calculate the overheads allocable to production departments A and B.
There are also two service departments X and Y.

X renders service worth Rs.12,000 to Y and the balance to A and B

as 3:2.
Y renders service to A and B as 9:1.
Particulars A B X Y
Floor space (sq.ft.) 5000 4000 1000 2000
Assets (Rs.in Lakhs) 10 5 3 1
H.P. of Machines 1000 500 400 100
No. of workers 10 50 50 25

Light and fan points b0 30 20 20

Expenses and charges are :

Rs.
Depreciation 1,90,000
Rent, rates and taxes 36,000
Insurance 15,200
Power 20,000
Canteen expenses 10,800
Electricity 4,800

[P.T.0]



Prepare a flexible budget for overheads on the basis of the following
data. Ascertain overheads rates at 50%, 60% and 70% capacity.

Variable overheads At 60%
capacity
Bs.
Indirect material 6,000
Indirect labour 18,000
Semi-variable overheads
Electricity (40% fixed 60% variable) 30,000
Repairs (80% fixed 20% variable) 3,000
Fixed overheads
Depreciation 16,500
Insurance 4,500
Salaries 15,000
Total overheads 93,000
Estimated direct labour hours 1,86,000

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

Calculate the earnings of a worker from the following as per Halsey and
Rowan plan :

(a) Hourly rate of wages Rs.10
Standard time for production of a dozen units of product = 2 hours
Actual time taken by the worker to produce 25 dozens is 40 hours
(b Articles manufactured by Mr.‘S’ a worker in a factory are 300
Standard time allowed 10 minutes per unit
Actual time 44 hours
Standard rate Rs.5 per hour.

What are the essentials of a good budgetary control system?

XY Ltd. purchased and issued materials in the following order :

2005
March 1 Purchased 300 units at Rs.3 per unit

5 Purchased 500 units at Rs.4 per unit

10 Issued 500 units

12 Purchased 700 units at Rs.4.50 per unit
15 Issued 700 units

20 Purchased 300 units at Rs.5 per unit

30 Tssued 150 units

Ascertain the quantity of closing stock as on 31st March and state its
value under “weighted average cost” method.

9 H 1968
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PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following -
(a) What is Machine hour rate? How is 1t computed?
(b) Explain the causes for Labour Turnover.
(¢) From the following data prepare a statement showing the cost per
day of eight hours of engaging a particular type of labour :
(1) Monthly basic salary plus D.A. Rs.400
(1) Leave salary 5% of (i)
(i11) Employer’s contribution to P.F. 8% of (1) and (i1)
(iv) Employer’s contribution to E.S.I. 21 % of (i) and (i1)
(v) Pro-rata expenditure on amenities to labour Rs.35 per
head p.m.
(vi) Number of working hours in a month 200

(d) The following cost data are available from the books for the year
ended 31.12.2006 :

Rs.
Direct material 9,00,000
Direct wages 7,50,000
Profit 6,09,000
Selling and distribution overheads 5,25,000
Administrative overheads 4,20,000
Factory overheads 4,50,000

Prepare a cost sheet indicating the prime cost, works cost,
production cost, cost of sales and sales value.

{e) The following data relate to the manufacture of a standard product
during the four weeks ended 26t March 2001.

Raw material consumed Rs.80,000
Direct wages Rs.48,000
Machine hours worked Rs.8,000
Machine hour rate Rs.4
Office overheads — 10% on works cost.
Selling overheads — Rs.1.50 per unit
Units produced — 4000
Units sold — 3600 at Rs.50 each
Prepare a cost sheet.
(f) Describe the objectives of Marginal Costing.
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(g) TFrom the following information calculate Maximum, Minimum and
Average stock levels.

Normal consumption per day 500 kgs.
Minimum consumption per day 200 kgs.
Maximum consumption per day 800 kgs.
Lead time 10 to 16 days

Re-order quantity 3000 kgs.

PART D — (6 x 2 = 12 marks)
8.  Answer SIX of the following very briefly :

(a) Compute the amount of selling and distribution overhead :

Rs.
Bad debts written off 10,000
Provision for doubtful debts 12,000
Advertising 81,000
Selling expenses 12,000
Salesmen’s salaries 23,000
Office salaries 31,000

(b) What is the significance of EOQ?
(¢) Write a short note on the merits of ‘Gantt’s task bonus plan’.

(d) A company employs workers on time wages cum piece wage basis.
Workers get payment as per the method more beneficial for them.

During a week of 44 hours, production was as under :
Gopu 100 units ;

Somu 140 units

Time rate Rs.2.5 per hour ;

Piece rate Re.1 per unit

Calculate earnings of each worker.
(e) What is meant by Absorption of overheads?

() Sales Rs.1,00,000 ;
Profit Rs.10,000 ;
Variable cost 70%

Find out :

(i) P/V Ratio

(11) Fixed cost
(g) Write a note on ABC Analysis.
(h) Write a note on ‘Idle Time’.
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B.Com.B.L. (Ions.)/B.Com.LLB.(Hons.) DEGREE (SEMESTER)
EXAMINATIONS, JANUARY 2021.

(FFor the candidates admitted from 2013 to 2018)
Third Year — Fifth Semester/Sixth Semester

PRACTICAL AUDITING

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

What are the different Types of Audit? Give the merits and demerits of
each type.

As an auditor, how would you verify the following assets and liabilities
(a) Plant and machinery and (b) Contingent liability

Explain the Provisions of the Companies Act, regarding the
qualifications, appointment and removal of a Company Auditor.

PART B -— (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.
Describe the factors that determine the Quantum of Depreciation.
Differentiate between Internal Audit and Statutory Audit.,

Explain the objects and elements of Audit report.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following:

(a) DBriefly discuss the Internal Control System to be adopted in a
computer based system.

(b) Describe the need for Development of Auditing.
(¢) What is Audit Sampling? and what factors determine the scope of
Audit Sampling.
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What are the special considerations involved in the verification of
‘Suspense A/C’?

‘Auditor is not a valuer— Explain this Statement.
Distinguish between Reserves’ and Provisions’.
State the Provisions with respect to appointment of auditor of a

Government Company.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very brefly :

(a)
(b)
(©)
(d)
(e)
®
&
()

Computerization in Auditing.
Vouching of cash receipts.

Test checking

Dangers of creating secret Reserves
Internal check

Define Auditing

Revenue expenditure

Auditors lien
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HB7B/COBSD/IICTB/
CHCID/HD7B/CHDID

B.A.LL.B. (Hons.)/B.Com. B.L.(Hons.)/B.Com.LL.B.(Hons.)/B.B.A.
LL.B.(Hons.),B.C.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, JANUARY 2021,

(For the candidates admitted from 2013 to 2016)
Fourth Year — Seventh Semester/Fifth Year — Ninth Semester

LAND LAWS

Time : 2% hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.

Explain the salient features of the Tamil Nadu Oeccupants of
Kudiyiruppu and Conferment of Ownership Act, 1971.

“Right to property is not a fundamental right™ Explain.

State the object of the Tamil Nadu Buildings (Lease and Rent Control)
Act, 1960 and explain the grounds for eviction.

PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.

Explain the salient features of the Tamil Nadu Agrlcultulal Land
Record of Tenancy Right Act, 1969.

Discuss the characteristic features of the Ryotwari System.

Explain the constitution and functioning of the Tamil Nadu Land
Reforms Special Appellate Tribunal under the Land Ceiling Act, 1971.

PART C — (b x 4 = 20 marks)

Write short notes on FIVE of the following:
(a) Rent Court and Rent Tribunal
(b) Public purpose

[P.T.O]
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(¢) Service Inam

(d) Permanent settlement
(e) Compensation

() Tair Rent

(g) Award

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

A Christian family consists of husband, wife, minor son and two
unmarried daughters. The wife has 20 standard acres of Stridhana
Land. The husband has 15 standard acres of land. 10 standard acres of
land stand is the name of minor son and daughters each. What is the
extent of land the family can hold within the ceiling area?

‘A’ was a cultivating tenant at a village near Tanjore. His son ‘B’ studied
medicine and came back to his father’s place and set up his clinic there.
On the death of his father ‘A’, he was evicted by the Landlord Z’. ‘B’
claims protection under the TN Cultivating Tenants Protection Act. Can
he succeed?

Land was acquired from the people of a village for the establishment of
an educational institution and construction of quarters for members of
staff and bunglow for the higher officials. Is the land acquired for public
purpose?
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HC1B/CHCIB/
HD1B/CHD1B

B.Com. L.I.B. (Hons.)/B.B.A. L1.B. (Hons.)/B.C.A. LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2015 to 2019)
First Year — First Semester
PRINCIPLES OF ECONOMICS
Time : 24 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words cach.

1. State the difference between Demand and Elasticity of Demand and
explain the theory of Consumer behaviour by Alfred Marshall.

2. Define National Income. Explain the circular flow of National Income.
3. Ewaluate the structure and working of Agricultural credit in India.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4, Evaluate-Keynes Liquidity Preference theory of interest.

5.  Describe the features of the ESI Act.

6. Explain Mahatma Gandhi National Rural Employment Guarantee
Programme.

PART C — (6 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :

(a) Short-run production function.
(b) Profit maximizing condition of firm under imperfect market.

(¢) Objectives of Fiscal policy.
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(d) Kinds of Public Revenue.
(e} Difference between Normal good and Giffen good.

() State the difference between Scarcity definition and Welfare

definition.

() Methods of Demand Forecasting.

PART D — (6 x 2 = 12 marks)

8. Answer SIX of the following very briefly:-
(a) Compensating variation
(b) GST
(¢) Production Possibility Curve.
() Open Market Operation.
() Poverty Gap.
() Iﬁdustrial sickness
(g) Abnormal profit.

(h) Green Revolution.
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H 2024 | HBIC/CHBIC |

B.Com, LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(IFor the candidates admitted from 2015 to 2019)
First Year — First Semester

PRINCIPLES OF MANAGEMENT AND HUMAN RESOURCE
MANAGEMENT

Time : 21 hours Maximum ; 70 marks
PART A - (2 x 12 =24 marks)
Answer TWO of the following in about 500 words each.

1. What are the requirements of effective controlling? Explain the role of
Information technology in controlling process.

2. Write a note on recruitment practices followed in Indian organizations
both 1n Public and Private Sectors.

3. LExplain the procedure for settlement of Industrial Disputes in India.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4.  Define Decision Making. Explain the process while taking a decision in
a normal situation.

5. ° Write a note on Performance appraisal of Public servants in India.

6. What is Workers Participation in Management? Explain its legal
aspects.

PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :
(a) [IFactors responsible for emergence of informal organization.

(b) Carcer development stages.

[P.T.0]



(¢) Process of MBO.
(d) Techniques for excellent coordination.
(e) Scope of HRM.
(f) Components of remuneration.
(g) Forms of collective bargaining.

PART D — (6 x 2 = 12 marks)
Answer SIX of the following very briefly :
(a) Any two principles of Henry Fayol.
(b} Forecasting.
(¢) Departmentalisation,
(d) Placement.
(¢) Training and development.
(0 Innovation.
(g) Social security measures.

(h) HR audit.
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| HB2B/CHB2B

B.Com. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,

JANUARY 2021.

(For the candidates admitted from 2015 to 2019)

First Year — Second Semester
PRINCIPLES OF ACCOUNTING

Maximum : 70 marks

PART A — (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.

Prepare Trading, Profit and Loss afc and Balance Sheet from the
following Trial Balance of Mr. Madan.
Debit Balance _ Rs. Credit Balance Rs.

Sundry Debtors 92,000 Madan’s Capital 70,000
Plant and Machinery 20,000 Purchase Returns 2,600
Interest 430 Sales 2,50,000
Rent, Rates, Taxes and Insurance 5,600 Sundry Creditors 60,000
Conveyance charges 1,320 Bank overdraft 20,000
Wages 7,000
Sales Returns 5,400
Purchz_lses 1,50,000
Opening stock 60,000
Madan’s Drawings 22,000
Trade expenses 1,350
Salarics 11,200
Advertising 840
Discount 600

[PT.0]



Debit Balance Rs. Credit Balance Rs.

Bad debts 800

Business premises 12,000

Furniture and Fixtures 10,000

Cash in hand 2,060

4,02,600 4,02,600

Adjustments :

(a)
(b)

(©
(d)
(e)
®

Stock on hand on 31.12.96 Rs. 90,000

Provide depreciation on premises at 2.5%; Plant and Machinery at
7.5% and Furniture and Fixtures at 10%.

Write off Rs. 800 as bad debts
Provide for doubtful debts at 5% on sundry debtors
‘Qutstanding rent was Rs. 500 and outstanding wages Rs. 400

Prepaid insurance Rs. 300 and prepaid salaries Rs. 700.

A Ltd. was registered with an authorised capital of Rs. 6,00,000 in
equity shares of Rs. 10 each. The following i1s its Trial Balance on 31st

Maxch 2008.
Trial Balance of ‘A’ Litd.
Particulars Debit Balance Credit Balance
(Rs.) (Rs.)

Good_will _ 25,000 =
Cash 750 —
Bank 39,900 —
Purchases 1,385,000 -
Preliminary expenses 5,000 —
Share capital — 4,00,000
12% Debentures - 3,00,000
P and L a/c (Cr.) — 26,250

2 H 1972



Particulars

Calls-in-arrears
Premises

Plant and Machinery
Interim dividend
Sales

Stock (1.4.2007)
Furniture and Fixtures
Sundry debtors
Wages

General expenses
Freight and carriage
Salaries

Director’s fees

Bad debis

Debenture Interest paid

Bills payable
Sundry creditors
General reserve

Provision for bad debts

2

Debit Balance
(Rs.)

7,500
3,00,000
3,30,000

39,250
75,000

7,200
87,000
84,865

6,835
13,115

14,500 .

5,725
2,110
18,000

Credit Balance
(Rs.)

4,15,000

37,000
40,000
25,000

3,600

12,486,750

19,46,750

Prepare statement of Profit and Loss and Balance Sheet in proper form
after making the following adjustments :

(a)
(b)
(©

Depreciate plant and machinery by 15%

Write off preliminary expenses

Provide for 6 months interest on debentures

H 1972



(d) Leave bad and doubtful debts provision at 5% on sundry debtors
(e) Provide for income tax at 50%

(f) Stock on 31.3.2008 was Rs. 95,000

(g) Provide for corporate dividend tax @ 17%.

Describe the different types and techniques of Financial Statement
analysis.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
Explain the various methods of calculating purchase consideration.

Following is the Balance Sheet on 18t April 2011 of Jegat and Jeenath
who are in partnership of sharing profits and losses in the ratio of 5:2.

Liabilities Rs. Asgsets Rs.
Sundry creditors 65,000 Bank 5,000
Capital A/C: ‘ Stock ‘ 10,000

Jegat 40,000 Debtors 15,250
Jeenath 35,000 75,000 Less : PBDD 250 15,000
Plant and Machinery 25,000
Building 85,000
1,40,000 1,40,000

On the date of above Balance Sheet, they admitted Srinath as a new
partner on the following terms :

(a) That Srinath will bring in Rs. 50,000 for his capital and the
necessary amount of goodwill in cash for 3/8% share in future
profits.

(b) The goodwill of the firm is valued at Rs. 70,000.
(¢) The new ratio will be 2:3:3

Pass journal entries, prepare capital a/c’s and Balance Sheet of the firm.
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A Fire occurred in the premises of Mr. Dheenadayalan on
15th August 1999. A large part of the stock was destroyed and Rs. 7,500
was realised for the salvage. For the period from 15t January 1999 to
15th August 1999, the following information is available :
(a) Purchases amounted to Rs. 42,500
(b) Sales amounted to Rs. 45,000
(c) Stock on hand on 1st January 1999 was Rs. 20,000 at cost price
(d) Goods costing Rs. 2,500 were taken by Dheenadayalan for his
personal use. The previous accounts reveal that the rate of gross
profit was 331 % on sale.
The insurance policy was Rs. 25,000 and included an average
clause. Prepare the statement of claim to be made on the insurance
company.
PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :
(a) What is profit prior to incorporation? How do you treat it in
accounts?
{b) State the main features of Hire Purchase system.
(¢c) Calculate funds from operations from the following Profit and
Loss alc.
Profit and Loss ale
Particulars Rs. Particulars Rs.
To Expenses paid 3,00,000 By Gross Profit 4,560,000
To Depreciation 70,000 By Gain on sale of land 60,000
To Loss on sale of machine 4,000
To Discount 200
To Goodwill 20,000
To Net Profit 1,15,800
5,10,000 H,10,000
(d) State the various modes of liquidating a company.
(e) Discuss the essential characteristics of partnership.
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A, B, C, D and E were partners in a firm sharing profits and losses
in the ratio of 5 : 4 : 3 : 2 : 1 respectively. Unfortunately, D and E
met with an accident in which both of them died.

The goodwill of the firm was valued at Rs. 75,000 and A, B and C
decided to share the future profits and losses in the ratioof4:6: 5
respectively.

Give the journal entry to record the above relating to goodwill.

Raman Ltd., agrees to purchase the business of Krishnan Ltd., on
the following terms :

(1) For each of the 10,000 shares of Rs. 10 each in Krishnan Ltd.
2 shares in Raman Ltd., of Rs. 10 each will be issued at an
agreed value of Rs. 12 per share. In addition, Rs. 4 per share
cash also will be paid.

(i) 8% Debentures worth Rs. 80,000 will be issued to settle the
Rs. 60,000, 9% debentures in Krishnan Ltd.

(iii) Rs. 10,000 will be paid towards expenses of winding up.
Calculate the purchasc consideration.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)

(c)

(d)
(e)

What is liquidation of a company?
Calculate Gross Profit Ratio from the following figures :

Sales Re. 10,00,000, Sales Returns Rs. 1,00,000, Opening Stock
Rs. 2,00,000, Purchases Rs. 6,00,000, Purchase Returns
Rs. 1,50,000, Closing Stock Rs. 65,000. »

On 1.1.2006, X purchased machinery on hire purchase system. The
payment is to be made Rs. 4,000 down (on signing of the contract)
and Rs. 4,000 annually for three years. The cash price of the
machinery is Rs. 14,900 and the rate of interest is 5%. Calculate
the interest in each year’s instalment.

What is Cash Flow Statement?

A company whose capital consists of 5000 shares of Rs. 100 each,
Rs. 75, called and paid, decides to reduce the shares into 5000
shares of Rs. 75 each fully paid. Pass necessary Journal entry.
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What is dissolution of Partnership Firm?
Define Accounting.

M, N and O were partners in a Firm sharing profits in the ratio of
3:2: 1. O retired and the new profit sharing ratio between M and
N was 1: 2. On O’s retirement the goodwill of the firm was valued
at Rs. 18,000. Pass journal entry for goodwill.
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B.Com. LIL.B. (Hons.)/B.B.A. LL.B. (Hons.)/ B.C.A. LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, JANUARY 2021.

(Ior the candidates admitted from 2015 to 2019)
First Year — Second Scemicster

SOCIOLOGY

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Define deviance and analyse the social significance of deviant behaviour
in contemporary India.

Examine the social position of women in medieval India.
Give a brief historical background of Indian Civilization.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
. Explain_the various types of social groups with suitabb examples.
Describe the characteristics of caste system prevailing in Indian society.

Explain the role of Self Help Groups in empowering Indian women.
PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :
(a) Achieved Status
(b) Control by Education

[P.T.O]
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()
(d)
(e)
®
(2)

Rebellion
Cultural Diversity
Demerits of Caste
Estate System
Types of family

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
()
()
(d)
(e)
©
(&)
()

Negative Sanction
Social Physiology
Folkways

Tribal groups
Ritual

Polyandry
Endogamy
Secondary Kin
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H 2025 HB3A/CHB3A/
HC3A/CHC3A/
HD3A/CHD3A

B.Com. LL.B. (Hons.)/ B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2015 to 2019)
Second Year — Third Semester
POLITICAL SCIENCE

Time : 21 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1.  Explain parliamentary form of Government and its features.
2. Define State and discuss its elements.
3. Examine the characteristics and types of Sovereignty.
PART B — (2 x 7 = 14 marks)
Angwer TWO of the following in about 300 words each.
4.  Explain the merits of Unicameral and Bicameral legislatures.
5. Discuss the various elements of National Power.
6. Enumerate Aristotle’s classification of Governments.
PART C — (5 x 4 = 20 mmarks)

7. Write short notes on FIVE of the following :
(@) Checks and balances.
(b) Merits and demerits of Monarchy.
(c) LEvolutionary theory of Origin of State.
(@) Civil liberty.
(e) Rights and duties.
(f) Concept of National Power.
(20 Non-aligned Movement.

[P.T.0]



PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(c)
(d)
(e)
®
(g)
(h)

Terrorism.

Citizenship.

Hobbes.

Realistic theory of International Relations.
International peace and security.

Security Council of the U.N.

World War I

Equality.
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B.Com. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(IFor the candidates admitted during 2015)
Second Year — Third Semester

FINANCIAL MARKET AND INDIAN ECONOMIC ISSUES

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.
Discuss about the financial services sector’s problems and reforms.
Explain the role of SEBI in Indian Capital Market.

Explain various methods of estimation of National Income.
PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.
Explain various stages of Venture Capital Financing.
Differentiate Forward Contract from Future Contract.

What are the features of Industrial Policy, 19567

PART C — (5 x 4 = 20 mavrks)

"~ Write short notes on FIVE of the following :

(a) List out various financial instruments.

(b) Explain the concept of Venture Capital.

() Describe the services of De-Mat.

(d) Explain the concept of Money Laundering.

(e) List out the causes of poverty.

() State the causes of Unemployment.

(g) What are the problems of public sector enterprises in India?
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PART D — (6 x 2 = 12 marks)

Angswer SIX of the following very briefly :

()
(b)
(©
(d)
(e)
®

()
(h)

Financial Market.

Leasing.

Mutual fund.

Merchant Banking.

NSDL,

Human Development Index.
Industrial dispute.

Green Revolution.
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H 1974 ICHBaB'

B.Com. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(For the candidates admitted during 2016, 2017, 2018 and 2019)
Second Year — Third Semester
FINANCIAL MARKET AND MARKETING MANAGEMENT

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. State the role of financial system in the economic development of a
country.

2. Explain the procedure to be followed by a merchant banker while acting
as a banker to an issue.

3.  Describe the significance of product management. How branding
packaging and labelling help product manager in realizing their
business goals?

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4.  Give a brief account of the structure of Indian Capital market.
5. State the role and functions of SEBI.

6. Explain the role of marketing channels and their importance in decision
making,

PART C-— (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :
(8) Methodology adopted by CRISIL for rating a company.
(b) Importance of underwriting schemes.

() Venture capital Institution.

[P.T.0]



(d)
(e)
49
(8)

Types of credit rating.

Need to regulate different types of mutual funds in India.

Market Targeting approaches,
Product life cycle.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(c)
(d)
(e)
®
()

()

Financial rate of return
Portfolio Management.
Market Mix.

Forward Contract.
Sales promotion.
Securitisation.

Trustee.

Financial Lease.

H 1974
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H 1975 HC1C/CHCIC

B.B.A. LL.B (Ilons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(For the candidates admitted from 2015 to 2019)
First Year — First Semester
BUSINESS MANAGEMENT AND ETHICS
Time : 21 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1.  Explain the process, features and benefits of MBO.

2.  Explain the meaning and nature of control. Discuss the requirements of |
an effective control system.

3. What are the general reasons for unethical business practices in India?
PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words ecach.

4, What is departmentation? Discuss in dctail about the different
strategies adopted in departmentation.

5. Discuss briefly the various functions which constitute the process of
management.

6. Elucidate the relevance of environmental ethical factors that afflect
businesses.

PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the following marks.

(a) Bring out the need for management principles.
(b) What are the advantages of decentralization?

() Explain the techniques of coordination.

[P.T.O]



(d) What are the elements of delegation of authority?
(e} What is planning? What are the steps involved in planning?
() Explain the arguments in favour of assuming social responsibility.

(g) Explain the features of line and staff organizational structure.

What are its merits and demerits?

PART D — (6 x 2 =12 marks)

8. Answer SIX of the following very briefly:
(a}) Unity of direction.

(by Types of decisions
(¢) Sealar principle

(d) Matrix organization
(e) MBE

@ Optimum Span

(g) Business ethics

(h) Ethical leadership

9 H 1975



H 1976 HC2ZB/CHC2B

Register No.

B.B.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(For the candidates admitted from 2015 to 2019)
First Year — Second Semester

HUMAN RESOURCE MANAGEMENT AND ORGANISATIONAL
BEHAVIOUR

Time : 2% hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

What are the objectives and importance of Human Resource Management?
Explain evolution of the concept of Human Resource Management.

Critically evaluate employees performance appraisal in business organizations.

Explain the process of MBO in detail.
PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.

Explain the functions of Human Resource Planning in India.
Examine the significance of job analysis and job design.

What are the issues and components of compensation criteria? -
PART C— (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a) Determinants of personality

(b) Theories of motivation

(¢ Factors affeeting learning.

(d) Challenges and opportunities of Organizational Behaviour.

{e) Major types of Sexual Harassment.

[P.T.O]
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()

Methods of Wage Payment.

Sources of Recruitment.

PARTD — (6 x 2 =12 marks)

Answer SIX of the following very briefly :

(a)
(b)

()

(d)
(e)
4
(g)
(h)

Group dynamics
Team Orientation
Fringe Benefit
Perception

Halo - effect

Job design
Rowan Plan

Incentive plan

H 1976
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Register No.,

H 2027 HC3B/CHCSBJ

B.B.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(For the candidates admitted from 2015 to 2019)
Second Year — Third Semester
FINANCIAL AND MANAGEMENT ACCOUNTING

Time : 21 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1.  What are the accounting concepts? Explain them.

2. The following is the Balance Sheet of A and B who are sharing the
profits/losses in the ratio of 2:1.

Liabilities Rs. Assets Rs.

Creditors 65,900 Cash 1,200

Capital : Debtors 9,700
A 30,000 Stock 20,000
B 20,000 Machinery 35,000

Buildings 50,000
1,15,900 1,15,900

They decided to admit “C” as a partner for 1/3 share in the profits of the
firm subject to the following conditions :

(a) that he should bring in Rs, 15,000 as his capital.

(b} that the value of stock and machinery to be depreciated by 10%.

(¢) that the provision of 5% on sundry debtors be made for doubtful
debts.

(d) that the value of buildings be appreciated by Rs. 9,500.
Prepare the Revaluation Account and Balance Sheet after the admission

of ‘C.

[P.T.0.]



3. Babu & Co. presents the following Financial Statements for 1988 and
1989. Prepare a Sources and application of funds statement.

Balance Sheet

Liabilities 1988 1989 Assets 1988 1989

Rs. Rs. Rs. Rs.
Bills payable 4,52,000 6,28,000 Cash 1,06,000 62,000

Creditors 8,26,000 12,564,000 Investment 1,74,000 -
Loan from bank 2,00,000 4,70,000 Debtors 6,92,000 10,56,000
Reserves and Surplus 13,84,000 17,28,000 Stock 8,64,000 13,66,000
Share Capital 12,00,000 12,00,000 Fixed Assets 22,26,000 27,96,000
40,62,000 52,80,000 40,62,000 52,80,000

Depreciation of Rs. 3,78,000 was written off for the year 1989 on Fixed
Assets.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4. How does Management Accounting differ from Financial Accounting?

5. Trom the following Trading and Profit/T.oss Account of Kaveri Ltd., you
are required to acertain cash from operations.

Trading and Profit/Loss A/C for the year ending 1999

Rs. Rs.

To Cost of goods sold 2,40,000 By Sales 4,00,000
To Gross Profit 1,60,000

4,00,000 4,00,000
To Stationery 6,000 By Gross Profit 1,60,000
To Depreciation 14,000
To Salaries 20,000
To Loss on sale of investments 2,000
To Rent and Taxes 8,000
To Discount on 1ssue of debentures 4,000
To Postage 3,000
To Provision for tax 20,000
To Proposed dividend 10,000
To Net, Profit 73,000

1,60,000 1,60,000

2 H 2027
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A project involves an initial investment for Rs. 50,00,000. The Net Cash
inflows expected during the first, second and the third year are
Rs. 30,00,000, Rs. 35,00,000 and Rs. 20,00,000 respectively. At the end
of the third year, the scrap value is indicated at Rs. 10,00,000.

The risk-adjusted discount rate is 10%. Calculate NPV.

PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :

(a) The cash flow of two proposals is given below :
Proposal “A” Proposal “B”

Initial Investment (Rs.) 2,000 2,000
Net Cash benefits :
Year 1 1,200 1,200
Year 2 8§00 400
Year 3 - 300
Year 4 — 300

Which proposal is beneficial according to pay-back method?

(b) Current Ratio 2.5, working capital Rs. 60,000. Calculate the
amount of current assets and current liabilities.

(¢) P and Q are sharing profits in the ratio of 4:3. “R” is admitted in
the business and new ratio among P, Q and R is 2:2:3. Find out the
Sacrificing Ratio.

(d) Differentiate Cash flow statement from Funds flow statemnent.
(e) State the Golden Rules of Accounting.

() What are Financial Statements?

(g) Find out the average rate of return based on following data :

Year  Gross Profit Depreciation Net Profit Investment

Bs.)
1 2,000 5332 (-) 3332 13,334
2 6,000 5332 668 8,000
3 10,000 5332 4668 2,666
Average 668 8,000

3 H 2027



PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly :

(a)
(b)
()
(d)
(e)
®
(8)
(h)

Ledger

Ratio Analysis

IRR

NPV

Goodwill

Profit/TL.oss Suspense A/C
Gaining Ratio

Capital Budgeting.

H 2027
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Register No.

H 1977 HC4A/CHC4A

B.B.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(For the candidates admitted from 2015 to 2018)
Second Year — Fourth Semester

COMPUTER FOR MANAGEMENT AND MANAGEMENT
INFORMATION SYSTEMS (MIS)

Time : 24 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1.  Describe the various data types and their properties in Access.
2. What are the a{pplications of Internet in e-governance?

3. What is Functional information system? Explain its types with
examples.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4. list out and explain the commonly used functions in Excel.

5. What are the types of Programming Languages? Describe each in brief,

6. What are the functions of a System analyst?

PART C — (b x 4 = 20 marks)
7.  Write short notes on FIVE of the following :

(a) Iixplain the applications of Macros in a Word document.
(b) Explain 3-tier architecture of DBMS.

(¢) Differentiate between online processing and offline processing.

[P.T.O.



(d)
()
(
(2)

Describe the characteristics of storage units.
Explain about client-server model.
Explain any four DBMS.

What are the roles of HRMIS?

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
©
(d)
(e)
6y
(2
(h)

Changing chart types and data series ranges.

Sorting Cell data

Mail Merge.

Logical data independence.
Utility software

3D Printers

Standards of EDI

Big data analytics.

H 1977
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H 2028 | CHB4A/HC4B/CHC4B

B.Com. LL.B.(Ilons.)/B.B.A. L1.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, JANUARY 2021.

(For the candidates admitted from 2015 to 2018)
Second Year — Fourth Semester
MANAGERIAL ECONOMICS

Time : 21 hours Maximum ; 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. Define Elasticity of Demand and explain various methods of measuring
Elasticity of demand.

2.  LExplain the use of Tso cost and Isoquant functions to achieve optimum
product mix of a multiproduct firm.

3. State the difference between Cost Control and Cost Reduction, Explain
the techniques of cost control.

PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.
4.  What is Pricing of product? Explain pricing-over life cycle of a product.
State the purpose of forecasting bolt in the short term and long term.

6. ‘The demand curve in oligopoly market is indcterminate’ — Explain.
PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :
(a) Maention the sources of capital budgeting
(b) Break-even point
(c) Explain the degrees of price discrimination.
(d) Mark up pricing )
(e) What is meant by rationing of capital?
(H Differentiate Accounting profit and Economic profit.
(g) List the components of a variable cost.

[P.T.0.]



PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
()
(d)
(e)
)
(2)
(h)

Define Managerial Economics.

Opportunity cost.

Reasons for the downward sloping demand curve.

Formula for Cross Elasticity of demand.
Define Welfare Triangle,

Produet differentiation.

Cost-plus pricing.

Objectives of the firm.

H 2028
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Register No.,

H 1978 HC5A/CHCH5A

B.B.A. LL.B. (Hons.) BEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021,
(For the candidates admitted during 2015, 2016, 2017 and 2018)
Third Year — Fifth Semester
STRATEGIC MANAGEMENT

Time : 21 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. Explain the strategic management process with a neat sketch.
2. Explain the competitive advantage model of Michael. E. Porter.

3. Discuss about Corporate Governance in Indian Industry. Describe its
significance.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4. Define strategic choice. Explain the process of strategic choice.

5. What are the strategies to be followed for an organization to be
successful? Explain with examples.

6.  What are the factors to be considered for environimental scanning?
PART C — (6 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) Role of Board of Directors in strategic management
(b) Features of vision statement
(¢) Phases of balanced score card
(d) Types of strategic control
(e) Strategies for a successful new venture
(f) Types of business policies

(g) Economic and technological variables in an industry environment.

[P.T.0.]



PART D — (6 x 2 = 12 marks)

8. Answer SIX of the following very briefly:

(a)
(b)
©
(d)
(e)
®
(2)
(h)

Centralization strategy
Horizontal integration

SWOT Audit

Corporate entrepreneurship
Strategic alliance

Stake holders

Corporate Social Responsibility

Competitive advantage.
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H 1979 HC5B/CHC5B

B.B.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(For the candidates admitted from 2015 to 2018)
Third Year — Fifth Semester
FUNDAMENTALS OF MARKETING MANAGEMENT

Time : 21 hours Maximum : 70 marks

PART A -— (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Explain the various functions of marketing.
2. Explain the various stages in new product development.
3. Discuss in detail about various sales promotion techniques.
PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.
4.  List ouf the importance of marketing management.
5. Explain the concept of Marketing Mix.
6. Explain the factors that influence the choice of distribution channels.

PART C — (b x 4 = 20 marks)

7. Write short notes on FIVE of the following:

(a) List out the reasons for new product failure.
(b) Differentiate Consumer goods from Industrial goods.
(¢) What are the importance of physical distribution?

(d) Dafferentiate advertisement from publicity.

[P.T.0]



(e)

() What are the importance of sales promotion?

(g)

Answer SIX of the following very briefly:

(a)
(b)
(c)
(d)
(e)
®

()
(h)

Write a short note on CRM.

What are the kinds of marketing channels?

PART D — (6 x 2 =12 marks)

Marketing Management

Product

Segmentation

Targeting

Motivation in sales management
Personal gelling

PLC
Pricing policy.

H 1979
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Register No.

H 1980 ' HC6B/CHC6B

B.B.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(For the candidates admitted from 2015 to 2017)
Third Year — Sixth Semester
PUBLIC FINANCE AND IT AW

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Explain Prof. Musgrave's views on the Principle of maximum social
advantage and how maximum social advantage is achieved?

List the recommendations of the 18t finance commission and give your
critical comment on its implications.

What is budget? IExplain the types of Budget and Techniques of
Budgeting.

PART B-— (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
Explain Prof. Lindhal Models of Principles of Fiscal Neutrality.
Discuss the role of Planning Commission in India.

What is Fiscal Policy? What are the main objectives and instruments of
Fiscal Policy?

PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following:
(a) Differentiate between public goods and private goods.
(b) Note on incidents, impact and shifting of taxation.

(c) Effects of public expenditure on economic growth.

[P.T.O]



(d)
(e)
®
(2

Describe the principles of Federal Finance.
Comment on Budget Maintenance Act.
Explain the features of GST in India.

Comparison of Direct and Indirect taxes.

PART D — (6 X 2 =12 marks)

Answer SIX of the following very briefly.

(a)
(b)
©
(d)
(e)
®
(8)
(h)

Merit goods

VAT

Non-Tax Revenue
Public Debt

Double taxation
Resource Mobilization
Budget deficit

Article 268.

H 1980
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Register No.

H 1981 | HDIC/CHDIC |

B.C.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(Ifor the candidates admitted from 2015 to 2019)
First Year — First Semester

COMPUTER FUNDAMENTALS AND OFFICE AUTOMATION

Time : 21 hours Maximum : 70 marks
2

PART A — (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.

Define Sequential Logic? Explain D and T {lip flops working with a neat
dragram.

List the features of MS-word. Write the procedure for creating, editing,
formatting and adding pictures and tables into the document.

Define Queries in MS-Access? List out the steps in creating and
executing queries in Ms-Access with an example. '

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

Define Computer. Explain about the various generations of a computer.

What ave logic gates? Explain various logic gates with their circuit
diagram.

Elucidate the important features of MS-Excel.
PART C - (b x 4 = 20 marks)

Write short notes on FIVE of the following :
(a) Convert the Hexa Number (3A):s into Binary Equivalent.

(b) Simplify the Boolean function using K-Map
FW,X,Y,Z}= (1,5,6,7,11,12,13,15).

[P.T.O.]



8.

(©)

(d)
(e)
®
(&

What is Encoder? Explain the functions of encoder with circuit
diagram,

Explain the working of Half Adder with the circuit diagram. -
Digcuss on Macros in MS-WORD.
Explain any two formulas in MS-Excel?

Describe different categories of Operating Systems.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(0)
d)
(e)
®
(g)
(h)

Define NAND gate.

What is Binary code?

Define Multiplexer.

List the components of MS-Excel Interface.
What are Counters?

What are the components of MS-Access?

List the characteristics of a computer.
What is meant by GUI?

2 H 1981
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Repister No.

H 1982 HD2B/CHD2B

B.C.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(For the candidates admitted from 2015 to 2019)
First Year — Second Semester
PROGRAMMING IN ‘C’ AND ALGORITHMS
Time : 2% hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1.  Explain Input and Output functions in C with an example.
2. Define Pointers. Write a C program to implement Array of Pointers.

3.  Elucidate the importance of Sorting. Explain any two sorting techniques
with an example.

PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.

4. What is meant by pseudo code convention? Write a Pseudo code for sum
of N numbers using For Loop.

5. Discuss various storage classes supported by C.

6.  Explain Nested Control Structure with an example.
PART C — (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following :

(a) How do we determine the efficiency of an algorithm?

(b) What is recursive function? Write a C program to calculate the

GCD of a given number using recursion.

(¢) All Pairs Shortest Path.

[P.T.O.]



8.

(d)
(e)
®
(2

Self Referential Structure.

State the steps in passing Pointers to Function.

Various Expressions in C.

Define File. List the various file operations.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
()
(d)
(e)
)

(g)
(h)

Brief on Character Set.

What is meant by Nested If ?

Define Merge sort,

Give the syntax for creating Union in C.
Write note on Comma Operator.

Brief on Pointer to a Structure.

List out the various notations of algorithms.

Write a C program to check whether the given number is even or

odd.

H 1982
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Register No. I

H 2029 HD3B/CHD3B

B.C.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,

JANUARY 2021.
(IFor the candidates admitted from 2015 to 2019)
Second Year — Third Semester

OPERATING SYSTEMS AND MICROPROCESSOR AND ITS
APPLICATIONS

Time : 21 hours Maximum : 70 marks

o

PART A — (2% 12 = 24 marks)

Answer TWO of the following in about 500 words cach.

Process synchronization can be done on both software and hardware
level — Explain the given statement with an example.

Explain the process state transition diagram used in Multiprogramming
Environment. Describe the fields in a process control block (PCB).

Elaborate on interrupt structure of 8085 with neat diagram.
PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.

What is meant by page fault? When does page fault occur? Describe the
action taken by OS when a page fault occurs,

Explain the requirement of a program counter, stack pointer and status
flags 1n the architecture of 8086 microprocessor.

Draw the Gantt chart and find the average waiting time using Round
Robin scheduling algorithms for the following set of process, with the
length of the CPU burst time given below in milliseconds.

PROCESS | BURST TIME
P1 21
P2
P3
P4

[PT.0]



PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following:

(a)

(b)
(©)

(d)

(e)
®
()

Define the concepts of multiprogramming and time sharing
systems. List out the advantages of time sharing system.

Elucidate free space management techniques supported by OS.

Differentiate between Paging and Segmentation Memory
Management Schemes.

List out the five categories of the 8085 instructions. Give examples
of the instructions for each group.

File Access Methods.
List few applications of microprocessor based systems.

Explain how to interface DMA controller with a microprocessor.

PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly:

()
(b)
()
(d)
(e)
®
(&)
(h)

Define concurrent process.

What is Belady’s anomaly?

Brief on spooling.

Define thrashing.

What is meant by encryption?

What are the functions of accumulator?

What is the function of IO/M signal in the 80857

State the objectives of file protection.

2 H 2029
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Register No.

H 1983 HD4A/CHD4A

B.C.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(For the candidates admitted from 2015 to 2018)
Second Year — Fourth Semester

PRINCIPLES OF SOFTWARE ENGINEERING
AND SOFTWARE TESTING

Time : 21 hours Maximum : 70 marks

PART A -— (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1.  Develop a SRS for a patient monitoring and control system for a hospital
to efficiently treat more patients per day. Make your own assumptions
with all necessary factors and attributes.

2.  What are the characteristics of a good desigh? Describe the different
types of coupling and cohesion. How design evaluation is performed?

3.  How do you distinguish black box testing and white box testing? State
the significance of both and elaborate the various approaches of white
box testing.

PART B - (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4,  Justify “Design is not coding and coding is not design”.
5. How to derive test cases for the given project? Explain with detail.

6. What are the direct and indirect measures? Explain size-oriented
metrics in detail.

[P.T.0]



PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a)

(b)
(c)
(d)
(e)
(®
@

Various phases involved in developing a software.
Expe)rt Judgment cost estimation techniques.
Optimistic notations about bugs.

Jackson structured programming.

Path testing.

Software quality assurance.

Code inspection and reviews.

PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly.

(a)
(b)

(c)
(@
(e)
®

(h)

State the difference between product and process.

What are the measures used i the analysis of reliability? Give the

gtandards used in industries.

Differentiate between Testing and debugging.

Define Transaction Flow Testing,

Advantages of Function point metrics over the LOC metrics.

“Structural Programming will yield efficient code” - comment on

this statement.
How do we compute the “Expected Value” for Software Size?

List the benefits of test automation.

2 H 1983
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H 1984 | HD4B/CHD4B |

B.C.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(FFor the candidates admitted from 2015 to 201.8)
Second Year — Fourth Semester
RELATIONAL DATABASE MANAGEMENT SYSTEM (RDBMS)

Time : 21 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1.  Explain Boyce-Codd normal form with an example. Also state how it
differs from 3 NT,

2. With relevant examples discuss the various operations in Relational
Algebra.

3. Discuss how multi level indexes are constructed using B trees and B*
trees.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4.  With the help of a neat block diagram explain the architecture of a
database management system.

5. Define functional dependency. List and discuss the six inference rules
for functional dependencies. Give relevant examples.

6. Explain static hash function. What is the need for dynamic hash
function?

PART C — (b x 4 = 20 marks)
7. Write short notes on FIVE of the following :

(a) Client/Server databases.

(b) Construct a ER Diagram for an employee payroll system.

[P.T.0]



(c)
(d)
(e)
®
(&)

Use of triggers with example.

What is a view? How it is created? Explain with an example.

ACID Properties of a Transaction.
Lock based protocols.

SQL facilities for concurrency.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
©
(d)
(e)
(0
(&

(h)

Write the two levels of data independence.

What 1s an instance? What is a schema?

State the anomalies of 1 NF.

Denormalization.

Give the SQL statements used for transaction control.

What 1s a weak entity? Give an example.

List the types of privileges used in database access control.

Why B+ tree is efficient than B tree?

H 1984
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H 1985 HD5A/CHDGA

B.C.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(I'or the candidates admitted during 2015, 2016, 2017 and 2018)
Third Year — Fifth Semeéster

OBJECT ORIENTED PROGRAMMING LANGUAGE - JAVA AND WEB
TECHNOLOGY

Time : 21 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words cach.,

1.  Differentiate between method overloading and method overriding with
examples.

2. What are exceptions? Exception handling in Java is used for debugging
the program — Justify with a suitable example.

3. Discuss about intrinsic event handling.
PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.

4. Explain the various features of Java.
5. Write a Java program to find the sum and average of N numbers.

6.  What is HTML? Explain the fundamental elements of HTML with an
example,

PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :
(a) DBenefits of Package.

(b) Synchronization

(c) Multithreading in Java

[P.T.0.]



(d
(e)

Byte Stream Class

Copy constructor

() What are the common Lists that can be used when designing a web

(g

page?

DOM: Event Handling

PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly:

(a)
(b}
(©)
(d)
(e)
®
()
(h)

What is meant by JVM?
Abstract Class.

Final Keyword.

Dynamic Binding.
Various states of Thread.

Does HTML support JavaScripts?

Data types supported by Javascript.

Document Tree.

H 1985
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Register No.

H 1986 HD5B/CHD5B

B.C.A, LL.B.(Hons.) DEGREE (SEMESTER) EXAMINATIONS,
JANUARY 2021.

(For the candidates admitted during 2015, 2016, 2017 and 2018)
Third Year — Fifth Semester
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PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. What is the drawback of stop and wait flow control? Explain in detail,
an efficient flow control scheme with necessary diagrams.

2. List the various design issues in Transport Layer. Compare Connection
Oriented and Connectionless Service in Transport Layer.

3. Define Cryptography. Compare between Symmetric and Asymmetric
Key Cryptography.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4. Discuss the different transmission media used for data transmission.

5.  Define IP Address. Describe the format of IP address for Class A, Class
B and Class C.

6.  Explain with an example how RSA algorithm works.
PART C — (b x 4 = 20 marks)
7.  Write short notes on FIVE of the following :
(a) Line Configuration

(b) Functions of Medium Access Layer.

(¢) State why Telnet uses Network Virtual Terminals?

[P.T.O.]



(d)

(e)

3]
()

When two routers use a routing protocol to exchange routing

information, must they share a common network?

What 1s the difference between network service and transport

service?

S/MIME

Tist the design goals of routing algorithms. Explain any two

routing algorithms with an example.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly:

(a)
(b)
(©)
(d)
(e)

0

(h)

Write a note on Cyclic Redundancy Check.
What is LAN?
List out the Layers in TCP/IP model.

Define Domain Name Systems.

Where is routing table maintained? Also state the purpose of

maintaining a routing table.
Brief on Digital Signature.
Write short note on Public Key Encryption.

Define Gateway.
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Third Year — Sixth Scmester

INFORMATION SECURITY AND DIGITAL FORENSICS

Time : 21 hours Maximum ; 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. What is digital forensics? What are the various phases in digital forensic

process?

2. Explain how law enforcement is done in computer forensics.

3.  Discuss about Mobile forensic tools in detail.

PART B — (2 x 7= 14 marks)

Answer TWO of the fellowing in about 300 words each.

4. Write an explanatory note on Network Security Management.

5. What are the steps involved in computer evidence collection? Explain in

detail with your own example.

6. Wireless Threats, Vulnerabilities and Security — Discuss.

PART C -— (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following:

(a) Classification of Cyber Crime.

(b) Offences related with Digital Signature and Electronic Signature

under the IT Act.

[P.T.O.]



(¢) Forensic Photography

(d} Data Recovery Tools

(e) Procedure for acquiring data from cell phones and mobile phones.
(f) Elaborate on Access control models.

(g) Internet Infringement
PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a) Write short note on SMS Security issues.
(b) Define Cyber Security.

(¢) Brief on Android Forensics.

(d) Public Key Encryption.

(¢) What is GPS Jamming?

() Write note on Financial Frauds

() Brief on Recover Internet Usage Data.

(h) What is meant by Mail bombs?
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PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

. Explain the Global Regulatory Framework for E-commerce by referring to

legislative and judicial perspectives.

State the wvarious constraints in the implementation and validation of
Electronic Data Interchange Contracts.

. Discuss the important trademark issues in Cyber Space.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

. Explain the different types of electronic payment mechanism and analyse

their legal constraints and enforceability challenges.

Discuss the impact of wvarious international organisations in the
implementation of E-commerce strategies.

. Examine the different dimensions of cyber crimes that pose challenge to the

development of Electronic commerce.

PART C - (50 x 4 = 20 marks)

. Write short notes on FIVE of the following:

(a) Asymmetric Cryptography
{b) Data Mining
{c} Peer — to — Peer Technology
(d) Secured Electronic Transaction
(¢) Public Key infrastructure (PKI)
(f) Source code and Object code
(g} Doctrine of Staple Article
(P.T.0)



PART D — (2 x 6 = 12 marks} :
Answer TWO of the following by referring to relevant provisions of law an
decided cases. Give cogent reasons.

8. “X” sends an online offer to an E-commerce portal for purchasing their
product at Rs. 10,000/-. Subsequently “X” gets an automated acceptance
message. Afterwards when the product was delivered to “X” he refused the
payment. Decide the remedies available to the online E-commerce portal.

9. Raj purchases an Air Ticket through online and the Airline company issues
one thousand rupees worth money in their own currency, managed by the
airline company. Raj wanted to transfer this money to the same group
company, which refused to accept the validity of the currency. Decide.

10. “A” transfers funds through a website, which was certified as safe and
secure by a trusted third party. But “A” lost some funds due to unsecured
transaction. Decide the liability of the trusted third party.



